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CHARTERED INSURANCE INSTITUTE OF NIGERIA
ASSOCIATESHIP
OCTOBER 2023 DIET EXAMINATION PAPER

SUBJECT AO01

RISK, REGULATION AND CAPITAL ADEQUACY

All answers are to be written on the answer booklet(s) supplied in accordance
with the following instructions:

Three hours are allowed for this paper.
Fill in the information requested on the answer booklet and on form B.

Handle the answer booklet with care.

Do not write on the question paper.

The answer booklet should be handed over personally by you to the
invigilator before you leave the Examination Hall.

Insert your candidate’s number as given on your admission permit and any
other particulars required on the cover and flap of the answer booklet.

Ensure that you write the full and correct candidate’s number.

No name should be written on any leaf of the book, or on any
supplementary leaves that may be issued to the candidates.

The answer to each question must be commenced on a separate page.
Where however, a question consists of two of more parts, this instruction do
not apply to the separate parts.

Write in the ruled margin the number and question attempted.
Leave no blank pages among your answers.

Where supplementary leaves are used, the candidate’s number should be
written in the space provided on them and fastened at the end of the book
inside the cover.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND VERBAL)
WILL ATTRACT STATED SANCTIONS AS STATED IN THE OCTOBER

2023 DIET CANDIDATES’ INSTRUCTIONS.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA
A01 - RISK, REGULATION AND CAPITAL ADEQUACY
INSTRUCTIONS TO CANDIDATES
Three hours are allowed for this paper.

You should answer all questions in Part I, the compulsory question in Part Il and
three out of the five questions in Part III.

The paper carries a total of 200 marks distributed as follows:

Part 1 8 Compulsory Questions 48 marks
Part II 1 Compulsory Question 50 marks
Part IIT 3 Optional Questions 102 marks.

You are advised to spend not more than 45 minutes on Part [ and strongly advised
to attempt ALL the required questions to score maximum possible marks.

Where a question is split into parts (a), (b), etc, marks for each part are only shown
if they are split unevenly between the parts and you should spend your time in
accordance with the allocation.

In attempting the questions, you may find it helpful in some places to make rough
notes in the answer booklet. If you do this, you must cross through these notes
before you hand in the booklet.

A formula sheet will be issued for use with this paper.

It is important to show each step in any calculation, even if you have used a
calculator.

Answer each question on a new page. If a question has more than one part leave
several lines blank after each part.
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Chief Examiner’s Comments:

Question 1

All the candidates attempted this question. The question intended to test the knowledge of the
candidates on the mean of ungrouped data. Pass rate was 81%.

Question 2
This question tested the knowledge of the candidates on method of data collection. All the
candidates performed excellently on this question. Pass rate was 94%.

Question 3
This question examined the knowledge of the candidates on the source of insurance information.
All the candidates attempted this question with pass rate of 83%.

Question 4
Majority of the candidates attempted this question. Pass rate was 58%.

Question 5

This question tested the knowledge of the candidates on the option available on how risks retained
by an organisation can be financed. Majority of the candidates attempted this question and the pass
rate was 80%.

Question 6
Majority of the candidates attempted this question and the pass rate was 83%.

Question 7
The question tested the knowledge of candidates on the benefit of risk. Majority of the candidates
attempted this question and the pass rate was 85%.

All the candidates that attempted this question performed above average.

Question 8
The question tested the knowledge of the candidates on the risk treatment and methods of risk
treatment. 98% of the candidates attempted this question with Pass rate of 65%.

Question 9

This is a compulsory question, 97% of the candidates attempted the question with 58% Success
rate. The candidates did not really understand the (a) part of the question, but they did well in the
(b) part of the question.

Question 10

69% of the candidates attempted this question with success rate of 83%. The question tested the
knowledge of the candidates on measures of central tendency with the grouped data.
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Question 11
This question tested the knowledge of the candidates on reinsurance. 78% of the candidates
attempted this question with an excellent pass rate of 85%.

Question 12
The question examined the candidates on source of data base and feature of data base. 72% of the
candidates attempted this question with pass rate of 90%.

Question 13

This question tested the knowledge of the candidates on the probability using binomial
distribution. 11% of the candidates attempted this question and pass rate was of 31%. Candidates
did not really understand the question.

Question 14
This question examined the candidates’ knowledge on risk management and its processes. 80% of
the candidates attempted this question and achieved 74% pass rate.

Comments on Overall Performance
Overall performance was excellent at 80.3% pass rate.

Suggestions on Improvements (if any)
Candidates should not relent in their efforts, they should study and prepare well for better results.
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Part1

A01

Answer ALL questions in Part I.
Each question carries six (6) marks.

1. Given the data below which related to the number of days ABC Insurance Company used
to settle its notified claims in Year 2022:
Number of Days in Which Claims Are Settled | Number of Claims Notified
20 50
21 65
26 40
29 20
31 5
Total: 180
You are required to complete the frequency distribution table and find the mean for the
data.
Solution
Number of Days in Which | Number of Claims Notified (f) f(x)
Claims Are Settled (x)
20 50 1,000
21 65 1,365
26 40 1,040
29 20 580
31 5 155
Total: 180 4,140
(%2 mark for each correctly computed f(x). Sub-Total: 3 marks)
Mean = X))/ f (1 mark)
= 4,140/180 (*amark) = 3 (¥2 mark)
(Grand Total: 6 marks)
2. Enumerate any three (3) method of data collection which may be used to collect data
from any chosen finite sample population.
Solution

The methods of data collection which may be used to collect data from any chosen sample
population are:

* direct observation; * interviews; * experiments; * questionnaires.
(2 marks for each correctly stated method. Maximum of 3 to be graded. Grand Total: 6 marks)

3. State any six (6) sources of insurance information in your country.
Solution
The sources of insurance information in any country are:
* The Insurance Regulator; * The Insurance Association;
* Chartered Insurance Institutes; * Professional Insurance Associations;
* Central Bank; * Ministry of Finance (Insurance Department);
* Bureau of Statistics / Federal Office of Statistics; * Insurance magazines.

(1 mark for each correctly stated source. Maximum of 6 to be graded. Grand Total: 6 marks)
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4. (a) What are class limits? (b) What are stated limits?
(c) What are true limits?

Solution

@ Class limits are the end points of the class in any given set of data. (2 marks)

(b) Stated limits are the limits which may be presented to the data analyst in any situation.
They may or may not be the true limits for the variables. (2 marks)

(c) True limits are the limits the data analyst may prefer to use, rather than the stated limits.

(2 marks)
(Grand Total: 6 marks)

5. State any three (3) options available on how risks retained by an organisation can be
financed.

Solution

The options available on how risks retained by an organisation can be financed are to be handled:

(i) as an expense; (ii) as loans; (iii) as a contingency fund

(iv) as (by) a captive insurance company.
(2 marks for each correctly stated option. Maximum of 3 to be graded. Grand Total: 6 marks)

6. €)) What does co-efficient of determination measure?
(b) What does co-efficient of correlation measure?
Solution

(a) Co-efficient of determination measures the extent to which the variation in ‘y’ from the
mean of ‘y’ has been explained by the regression of “y’ upon ‘x’.

Or Co-efficient of determination measures the ratio of explained variation to the total
variation.
(3 marks)
(b) Co-efficient of correlation measures the strength of the relationship between the two
variables given.

(3 marks)
(Grand Total: 6 marks)
7. Concisely enumerate the three (3) benefits of risk.
Solution
The three benefits of risks are:
(i) it creates the hope for profit; (2 marks)
(ii) risk is a bar to entry into the marketplace for ventures which are unsound, or likely to
be short-lived; (2 marks)
(iii) risk encourages a safety culture. (2 marks)
(iv) risk enables us to improve our knowledge on variables of interest. (2 marks)
(v) risk creates endless opportunities in the business world. (2 marks)
(Grand Total: 6 marks)
8. €)) What is risk treatment? (1% marks)
(b) Outline any three (3) methods of risk treatment. (4% marks)
Solution
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@ Risk treatment may be defined as the process of selecting and implementing measures to

modify the risk. (1%2 marks)
(b) The methods of risk treatment are:
(1) risk avoidance; (i) risk control; (i) risk transfer; (iv) risk financing.

(1% marks for each correctly stated method. Maximum of 3 to be graded. Sub-Total: 41% marks)
(Grand Total: 6 marks)

Part I1
Compulsory Question.
This question carries 50 marks.

9. @) What are the provisions of the Insurance Act of 2003 as it relates to contingency
reserves. (10 marks)
(b) The table below gives the marks obtained by twelve students of the College of
Insurance in Motor Insurance Course (MIC) as compared to Liability Insurance
Course (LIC) in Year 2022:

Student MIC LIC Student MIC LIC
1 53 41 7 47 45
2 74 65 8 72 59
3 448 44 9 48 20
4 71 38 10 65 57
5 66 41 11 80 64
6 60 62 12 40 27

Q) Draw a scatter diagram of the data given in the table above.
(i) Find the regression line of y on x and draw it on the scatter diagram.
(iii)  Determine the estimate of the co-efficient of correlation between the two variables.

(40 marks)
Solution
(a) The provisions of the Insurance Act of 2003 as it relates to contingency reserves are:

o an insurer shall establish and maintain contingency reserves to cover fluctuations in
securities and variations in statistical estimates; (5 marks)

o the contingency reserves shall be credited with an amount not less than 3% of the
total premium or 20% of the net profits (whichever is greater) the amount shall
accumulate until it reaches the amount of the minimum paid-up capital or 50% of the
net premium (whichever is greater) (5 marks)

(Grand Sub-Total: 10 marks)
(b)
Student MIC (x) LIC (y) Xy X2 y?
1 53 41 2173 2809 1681
2 74 65 4810 5476 4225
3 48 44 2112 2304 1936
4 71 38 2698 5041 1444
5 66 41 2706 4356 1681
6 60 62 3720 3600 3844
7 47 45 2115 2209 2025
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8 72 59 4248 5184 3481
9 48 20 960 2304 400
10 65 57 3705 4225 3249
11 80 64 5120 6400 4096
12 40 27 1080 1600 729
Total: 724 563 35508 45508 28791

(¥2 mark for each correctly completed information in coloured ink. Sub-Total: 20% marks)

0] Scatter diagram

MIC LiC
53 41 Scatter Diagram for MIC and LIC Title
74 65 .
48 44 s ° o
71 38 60 o« °
66 41 >0
60 62 o 40 ®e
47 45 30 3
72 59 20
48 20 10
65 57 0
80 64 0 20 40 60 80 100
40 27 MIC
(Grand Sub-Total: 5 marks)
MIC LiC _ )
53 41 Regression Line of y (LIC) on x
74 65
48 44 (MIC)
70
71 38 I o o
66 41 60 o 0
60 62 e
a7 asuc O e
72 59 30 (3
48 20 ig °
65 57 .
80 64 0 20 40 60 80 100
40 27
MIC
ii Let the regression line be represented by:
g y

y=a+bxORy=c+mx
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wherea=>y —-bYx

n n (1 mark)
b=ndxy—Yx>y
ny x? — (3(x)? (1 mark)
Therefore,
b =12(35,508) — (724)(563)
12(45,508) — (724)? (1 mark)
= 426,096 — 407,612 =18,484 = 0.84332 (1 mark)
546,096 — 524,176 21,920
And, a=>563 —(0.84332) (724)
12 12 (1 mark)
=46.917 -50.873 = —3.956 (1 mark)
Thus, y =—3.956 + 0.8432x (1 mark)
(Sub-Total: 8% marks)
(c) r = nYXy -3 X3y
v (n2X - (2097 (nZy? - () %) (1 mark)
= ((12)(35,508)) — ((724)(563))
v ((12)(45,508) — (724) 2)) ((12)(28,791) — (563) 2) (2 marks)
= 18,484
v ((21,920) (28,523)) (2 marks)
= 18,484
v 625,224,160 (1 mark)
=18,484
25,004.48 (1 mark)
r = 0.7392 (1 mark)
(Sub-Total: 6 marks)
(Grand Sub-Total: 40 marks)
(Grand Total: 50 marks)
Part I11

Answer THREE of the following FIVE questions.
Each question carries 34 marks.

10.  The data below has been released by a membership institute in relation to annual
subscriptions received by different categories of members of the Institute in Year 2022:

| Membership Category | Annual Subscription (‘millions) | Frequency
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Ordinary Members 0-49 8
Student Members 50-99 10
Senior Members 100 — 149 24
Associate Members 150 — 199 20
Fellow Members 200 — 249 22
Board Members 250 — 299 12
Ex-Officio Members 300 — 349 4
Total: 100
You are required to:
@) Find the mean for Year 2022 annual subscriptions received. (25 marks)
(b) Find the median for Year 2022 annual subscriptions received. (5 marks)
(c) Find the mode for Year 2022 annual subscriptions received. (4 marks)
Solution
Annual Subscription | Frequency | Mid-Class | Fx Cumulative
(‘millions) (x) Frequency
0-49 8 24.5 196 8
50-99 10 74.5 745 18
100 — 149 24 124.5 2988 42
150 — 199 20 174.5 3490 62
200 — 249 22 224.5 4939 84
250 — 299 12 274.5 3294 96
300 — 349 4 324.5 1298 100
100 16950
(1 mark for each coloured item in the table above. Sub-Total: 22 marks)
@ Mean = Y)Y (2 marks)
= 16,950/100 = 1695 F (1 mark)
(b) Median = L1 + (N/2 = > fips) C (2 marks)
fm
L1 = the lower class boundary of the median class;
N/2 =3°f;

> fina= the cumulative frequency immediately before the median class;
fm = frequency of the median class;
C =the class size

=149.5+ (50 —42) 50 (1 mark)
20
=149.5+ (8) 50 (1 mark)
20
=149.5+20=169.5 (1 mark)

(c)Mode=L:+_(Dy) C
(D1 + Do) (2 marks)
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L1 = the lower class boundary of the modal class;

D1-24-10-14
D,-24-20=4
=995+ 14 X50
(14 + 4) (1 mark)
=99.5+ 700
18
= 138.39 approximately. (1 mark)
(Grand Total: 34 marks)

11. @ Define the term “reinsurance”. Give an illustrative example of the term. (4 marks)

(b) Outline five (5) uses or functions of reinsurance to the direct offices. (10 marks)

(© Differentiate between a treaty and facultative reinsurance. (8 marks)

(d) Outline any two (2) advantages and two (2) disadvantages for both treaty and

facultative reinsurance. (12 marks)

Solution

@ Reinsurance may be defined in any of the following ways:
e asa process of insuring all or part of what has already been insured by the direct
office/insurance company;
e as a further spread of insurable risks;
e as the business of insurance across the boundaries of two or more countries. In this
case, reinsurance business is regarded as an international business.
An illustrative example is when an insurance company accepts a risk that is beyond its retention
and then gives out part of the risk to a licensed company, called a reinsurance company, that is
able to also accept the risk and when the eventual risk insured against occur, the reinsurance
company reimburses the insurance company, in line with the agreed terms and conditions of

placing the risk with the reinsurer.
(2 marks for any correct and complete definition. 2 marks for correct and complete illustration. Sub-Total: 4
marks)

(b) The uses or functions of reinsurance to the direct offices are:
o further spread of risks for the insurance companies;
e bigger capacity for the insurance companies;
e catastrophe protection;
e stabilisation of claims ratio;

e profit sharing arrangement; 0 solvency margin protection.
0 it brings about confidence to the insurance companies; [] product development.
0 underwriting and other financial advisory services;
0 training and development programmes.
(2 marks for each correct and completely stated use/function. Maximum of 5 to be graded. Sub-Total: 10
marks)

(c) A treaty reinsurance is a prior arrangement/agreement between the insurance company and a
reinsurance company to place and accept certain businesses that fall within the pre-agreed terms
and conditions, , which is obligatory on both parties; while a facultative reinsurance is the
placement and acceptance of business on an individual basis depending on the individual
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business merit and/or demerit i.e. in a facultative reinsurance, there is no obligation on both

parties to place or accept the risk being placed.
(4 marks for each correct and completely stated explanation of each term. Sub-Total: 8 marks)

(d)

Treaty

Facultative

Advantages

Disadvantages

Advantages

Disadvantages

Acceptance is automatic
once the risk falls within
the treaty terms

It may be more
expensive for few risks
classification.

It is the last resort
once the treaty
capacity is fully
exhausted.

Itis very
cumbersome in
administration

Ease of administration

Facultative method
may be sought once
the treaty capacity is
exhausted.

It is specifically
designed for
hazardous risks.

Acceptance is not
automatic

There is no possibility of
leakages of vital
information to
competitors

It is not designed for
certain risks referred to
as hazardous risk.

It is highly flexible
in the sense it could
be put in place for
any risk.

There is possibility
of leakages in vital
information to
competitors

There is no loss of
goodwill as there is no
delay in communicating
acceptance terms.

There is no binding
obligation on both
parties

There is possibility
of loss goodwill with
the insured as there
is delay in
communicating
acceptance terms

( 1% marks for each correct and completely stated advantage/disadvantage. Maximum of 2 under each
advantage and disadvantage to be graded. Sub-Total per term: 6 marks. Grand Sub-Total: 12 marks)
(Grand Total: 34 marks)

12. (a)
(b)
database.
Solution
(@)

existing database.

Outline and explain the two (2) sources of database.
Enumerate in concise but clear terms, any four (4) essential features of a good

(22 marks)

(12 marks)

The sources of database are — (i) creation of a new database and (ii) making use of an

(i) Creation of a new database: it is the establishment of database from a new source. This new

source may be from raw data or already processed data (such as a published data).

Creation of a new data base is desirable in the following circumstances:
e where no database exists;

e where the database in existence was established for another purpose;

e where there are suspected inherited faults in the existing database.
(it) Making use of an existing data base: this is using the database that has been in existence
(though, it may or may not have been processed) for another purpose(s), but which is still
considered to have certain form of relevance to the new intended purpose.
The following are the major advantages of making use of an existing data base:

o the relative frequencies with which the data have occurred in the past is very important;

e no data in actual sense exists in a vacuum;
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e it may equally be put to cost and time effectiveness advantages.
(5 marks for each correctly stated source. 3 marks for each correct and completely stated explanation.
Maximum of 2 explanations to be graded under each source. Sub-total per source: 11 marks. Grand Sub-
Total: 22 marks)

(b) The essential features of a good database are:
e itisusually created gradually over a period of time;
e it must meet the purpose for which it was created;
e it must not be too long in the past (i.e. not obsolete);
e it must be very adequate and comprehensive;

e the data in the database must be systematically organized, so as to ease accessibility.
(3 marks for each correct and completely stated feature. Maximum of 4 to be graded. Sub-Total: 12 marks)
(Grand Total: 34 marks)

13. Messrs Cakes Delight Limited specialises in cakes production. If 10% of the cakes
produced is defective and therefore unsaleable, find the probability that out of ten (10)
cakes baked:

@ exactly one cake is defective; (12 marks)

(b) exactly three cakes are defective; (8 marks)

(© at most three cakes are defective. (14 marks)
Solution -

@ Exactly one cake is defective:
Let the probability that a Cake is defective be represented by g.

Thus, g =10/100 = 0.1 2 marks
But,p+q=1 1 mark
Therefore,p=1-0.1=0.9 1mark
P(X) = nCx g*p™* 1 mark
P(1) = 10C1q'p°® 2 marks
= 10! X (0.1)! X (0.9)° 2 marks
11 (10 - 1)!
=10X9! X 0.1X0.38742=10 X 0.1 X 0.38742 = 0.38742 3 marks
9!

(Grand Sub-Total: 12 marks)
(b) Exactly three Cakes are defective:

P(X) = nCx g*p™* 1 marks
P(3) = 10Csqp’ 2 marks
= 10! X (0.1)* X (0.9)" 2 marks
31 (10-3)!

=10 X9 X8X7! X0.001X0.4783 =0.0574 (Approximately). 3 marks

31X 7!
(Grand Sub-Total: 8 marks)
(©) At most three Cakes are defective
The probability that at most three Cakes are defective = P (0 Cake is defective) + P (1 Cake is
defective) + P(2 Cakes are defective) + P(3 Cakes are defective). 4 marks
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P(0) = 10Co q°p*° 1 mark
= 10! X (0.1)° X (0.9)*
0! (10 -0)!
=1X1X0.38742 = 0.3487 (Approximately) 1 mark

P(1) = 10C1g'p® 1 mark

= 10! X (0.1)' X (0.9)°
11 (10 - 1)!
=10 X 9! X0.1X0.38742 =10 X 0.1 X 0.38742 = 0.3874 (Approximately) 1 mark
9!
P(2) = 10C20%p® 1 mark
= 10! X (0.1)? X (0.9)®
21 (10-2)!
=10 X9 X 8! X0.01X0.43046 = 0.1937 (Approximately) 1 mark
2X1X8!
P(3) = 10C30®p’ 1 mark
= 10! X (0.1)® X (0.9)’
31 (10-3)!
=10 X 9X8X 7! X0.001X 0.4783 =0.0574 (Approximately) 1 mark
3AIXT7!

Therefore, the probability of at most three Cakes are defective is:
P (0 Cake is defective) + P (1 Cake is defective) + P(2 Cakes are defective) + P(3 Cakes are
defective)

=0.3487 + 0.3874 + 0.1937 +0.0574 = 0.9872 2 marks
(Grand Sub-Total: 14 marks)
(Grand Total: 34 marks)

14. (a) State any standard definition of “risk management”? (6 marks)
(b) State and explain in detail the Risk Management Process. (28 marks)
Solution

@) Risk management may simply be defined as:

Q) a continuous process (1 mark) of identifying (% mark), analyzing (¥ mark), evaluating (%
mark), monitoring (¥ mark) and taking best economic control of all those risks (2 marks) which
may threaten the assets of an organization (1 mark). OR

(i) the process (1 mark) whereby organisations (1 mark) methodically address the risks
attaching to their activities (2 marks) with the goal of achieving sustained benefit (1 mark) within

each activity and across the portfolio of all activities (1 mark).
(6 marks for each correct and completely stated definition)

(b) The risk management process is as explained below:
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1. Organization’s Strategic Objectives
These are long term planned objectives which an organisation is set out to achieve Risk
management generally enhances organization’s strategic objectives through the following:

o by providing a framework in terms of activities in the most sequential and guided
ways for the organisation;
. effective and efficient allocation and use of the organisation’s capital as well as other
resources;
. by protecting the organisation’s assets from all those risks that may threaten them;
o by providing enabling environment for the people to work;
o it also aids decision making process through coordinated planning and direction of
business activities;
o volatility is reduced, especially in the less important aspects of the business.
2. Risk Assessment, which is of two components:
@ Risk analysis: which is:
. risk identification; risk description; . risk estimation.

Risk Assessment: the overall process of risk analysis and evaluation.
There are two components of risk assessment; risk analysis and risk evaluation.
Risk Analysis comprises of risk identification, description and estimation.
(i) risk identification: this is a systematic way of identifying all the activities that may expose
the organisation to various risks.
(ii) risk description: this is the explicit description of all the risks identified under the risk
identification stage in a way that would be readily understood by all the stakeholders
(iii) risk estimation: these are the estimates both in terms of quantitative & qualitative values
(i.e. frequency of occurrence and impact level) to the organization. Usually in risk estimation,
criteria such as H— M — L may be employed in describing the estimate values or attributes.

0 H — stands for High; 0 M — stands for Medium or Middle;

0 L — stands for Low.

(b) Risk Evaluation: this is the second and last component of risk assessment whereby opinions
(Judgments) are formed about the importance (value) and acceptability (appetite) of risk. (2
marks).
3. Risk Reporting (in terms of threats & opportunities): this reporting both the downside and
upside aspects of the risks. In other words, we are reporting on what are the threats and
opportunities associated with the risks under consideration.
4. Decision: Take informed decisions regarding the importance and acceptability of the risks
having considered the threats & opportunities they present to the organisation.
5. Risk Treatment
The process of selecting and implementing measures to modify the risk and this basically
include:

— risk avoidance; —risk control; — risk transfer; — risk financing.
Furthermore, please note that the minimum standard requirement for risk treatment method
chosen is that it should be cost effective, laws & regulations compliant.
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6. Residual Risk Reporting

Reporting the overall information about all the risks to the appropriate stakeholders as they are
all affected separately. The stakeholders are — the board, the CEO, executive management,
business units/departments, departmental heads and various individuals.

7. Monitoring: there should be regular & continuous monitoring of the risk management process
with a view of ensuring that there are no omissions in the actions identified to be carried out &

any deviations noticed must be reported to the appropriate channel or authority.
(2 marks for each correctly stated process. 2 marks for each correct and complete explanation of the correctly
stated process. Sub-total per process: (4 marks. Grand Sub-Total: 28 marks)

Grand Total: 34 marks

Page 18 of 125



CHARTERED INSURANCE INSTITUTE OF NIGERIA
ASSOCIATESHIP
OCTOBER 2023 DIET EXAMINATION PAPER

SUBJECT A02
REINSURANCE: PRINCIPLES AND APPLICATION

All answers are to be written on the answer booklet(s) supplied in accordance
with the following instructions:

Three hours are allowed for this paper.
Fill in the information requested on the answer booklet and on form B.

Handle the answer booklet with care.

Do not write on the question paper.

The answer booklet should be handed over personally by you to the
invigilator before you leave the Examination Hall.

Insert your candidate’s number as given on your admission permit and any
other particulars required on the cover and flap of the answer booklet.

Ensure that you write the full and correct candidate’s number.

No name should be written on any leaf of the book, or on any
supplementary leaves that may be issued to the candidates.

The answer to each question must be commenced on a separate page.
Where however, a question consists of two of more parts, this instruction do
not apply to the separate parts.

Write in the ruled margin the number and question attempted.
Leave no blank pages among your answers.

Where supplementary leaves are used, the candidate’s number should be
written in the space provided on them and fastened at the end of the book
inside the cover.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND VERBAL)
WILL ATTRACT STATED SANCTIONS AS STATED IN THE OCTOBER

2023 DIET CANDIDATES’ INSTRUCTIONS.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA
A02 - REINSURANCE: PRINCIPLES AND APPLICATION
INSTRUCTIONS TO CANDIDATES
Three hours are allowed for this paper.

You should answer all questions in Part I, the compulsory question in Part Il and
three out of the five questions in Part III.

The paper carries a total of 200 marks distributed as follows:

Part 1 8 Compulsory Questions 48 marks
Part II 1 Compulsory Question 50 marks
Part IIT 3 Optional Questions 102 marks.

You are advised to spend not more than 45 minutes on Part [ and strongly advised
to attempt ALL the required questions to score maximum possible marks.

Where a question is split into parts (a), (b), etc, marks for each part are only shown
if they are split unevenly between the parts and you should spend your time in
accordance with the allocation.

In attempting the questions, you may find it helpful in some places to make rough
notes in the answer booklet. If you do this, you must cross through these notes
before you hand in the booklet.

A formula sheet will be issued for use with this paper.

It is important to show each step in any calculation, even if you have used a
calculator.

Answer each question on a new page. If a question has more than one part leave
several lines blank after each part.
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Chief Examiner’s Comments:

Question 1

This question was intended to test candidates’ knowledge on reinsurance negotiation. A
compulsory question with 50% pass rate, which shows lacks of candidates’ knowledge on this
question. Adequate preparation is recommended for improved performance.

Question

This question intended to test candidates’ knowledge on currency fluctuations in reinsurance in
international market. Well attempted question with only 54% pass rate. It is important that
candidates should be knowledgeable about international role of reinsurance.

Question 3
Tested candidates on reinsurance retention. Well attempted question and 76% pass rate was
recorded. Candidates will do better if they can improve on their preparation for the examination

Question 4
This question is intended to test candidates’ knowledge on reinsurance needs. Well attempted by
all candidates with over 66% pass rate, which shows candidates understanding of the question.

Question 5

This is a text book question on reinsurance brokers. Well attempted by 95% of the candidates with
79% scored above average. In overall, the candidates showed good understanding of the
requirement of this question.

Question 6

Intended to test candidates’ knowledge on the price of reinsurance. Poorly attempted question,
most candidates wrote off the points. Pass rate was 39%. The candidates are encouraged to be
committed to their course book.

Question 7
This question tested candidates on various reinsurance terms. Performance was good with 71%
pass rate.

Question 8

Tested candidates’ knowledge on designing reinsurance programme and claim settlement. Well
attempted question with 75% pass rate, which indicated their better understanding of the question
requirement.

Question 9

This is compulsory, which involved calculation on minimum and deposit premium, gross and net
premium income. The performance was very poor as pass rate was only 6.2%. It is suggested that
future examination should be divided into two parts - theory and calculation.
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Question 10

This is an elective question designed to test candidates’ knowledge on the requirement of handling
reinsurance claims. 95% of the candidates attempted the question, with 80% scoring above
average.

Question 11
The question was intended to test candidates’ knowledge on proportional and non-proportional
reinsurance. Attempted at 85% with 70% scoring above average.

Question 12

Tested candidates’ knowledge on factors that determine the price of non-proportional reinsurance.
Attempted at 64.8% with pass rate of 36%, which indicates poor understanding by the candidates.
Candidates need to read and understand their course books.

Question 13
Designed to test candidates’ knowledge on treaty arrangement. Poor performance, attempted at
70% and pass rate of 46%, which indicates that the candidates did not understand the question.

Question 14
This elective question is designed to test candidates’ knowledge of reinstatement on reinsurance.
Poorly attempted at 20%, with only 2% pass rate.

Comments on Overall Performance
Generally, the overall performance is poor with 31% pass rate, which is below average. There is
need to re-structure the entire questions in future examination.

Suggestions on Improvements (if any)

| suggest that, the entire questions should be restructured in future examination. Besides, the
candidates should be more committed to their study to enhance future performance.
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A02
Part I
Answer ALL questions in Part I.
Each question carries six (6) marks.

1. Differentiate between conventional reinsurance negotiation and modern/alternative
reinsurance negotiation.
Solution

Reinsurance negotiation is conventionally conducted directly by the ceding company or through
brokers who negotiate with underwriters and carry out various ancillary tasks on behalf of their
clients. This involves building up of a good working relationship and often face-to-face
negotiation with the reinsurer. Negotiations can be conducted by means of correspondence, but
often will involve visits by the broker or the reinsurer in a particular part of the world.

Reinsurance trading and placement in recent years has witnessed the arrival of various forms of
electronic trading. Electronic trading is the conduct of reinsurance business by means of
computer-based facilities, networks or the internet, as an alternative to conventional face-to-face
discussions. Examples include (e-commerce, the internet) via systems such as Wise (Worldwide
Insurance e-commerce) for the offer of business and the settlement of accounts and, CLASS
(claims Loss Advice and Settlement System) for the notification, settlement and payment of
claims.

(1¥2 marks for each correct and completely stated explanation. Maximum of 2 explanations to be graded.
Sub-total per term: 3 marks. Grand Total: 6 marks)

2. Reinsurance been an international business is exposed to currency fluctuations, explain in
any two (2) ways how this can be avoided on reinsurance transactions in currency other
than the normal accounting currency of the reinsurance company.

Solution

An exact match of assets and liabilities can avoid this in the transaction currency. If a

reinsurance company transacts business in many currencies, such a policy might be impractical.

In order to reduce costs, ease administrative burdens and reduce currency exchange risk,

reinsurers tend to hold relatively few but strong currencies and then link other weaker currencies

and their appropriate assets and liabilities to one of those stronger currencies.
(3 marks for each correct and completely stated explanation. Maximum of 2 to be graded. Total: 6 marks)

3. Usually, companies with similar portfolios set different retentions, justify with two (2)
reasons why this difference occurs.
Solution

Companies with similar portfolios will often set different retentions because their corporate
objectives, risk appetite, the weight they place on the factors which determine the retention are

unlikely to be identical.
(3 marks for each correct and completely stated explanation. Maximum of 2 to be graded. Total: 6 marks)

4. List six (6) types of information that the reinsured assemble in order to assess its
reinsurance needs.
Solution

The types of information that the reinsured assemble in order to assess its reinsurance needs are:
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* portfolio analysis; * territorial scope; * limitations of acceptance;
* risk profiles; * premium income; * acquisition costs;
* claim experience.

(1 mark for each correctly stated type of information. Maximum of 6 to be graded. Total: 6 marks)

5. Enumerate any four (4) factors that underwriters usually consider when choosing a
reinsurance broker.
Solution

The factors that underwriters usually consider when choosing a reinsurance broker are:
e what the insurer requires from the broker;
e expertise of the broker;
e financial stability and probity of the broker;
e reputation for service and being able to service their needs;

o ability of the broker to offer value-added security vetting of reinsurers.
(1% marks for each correct and completely stated factor. Maximum of 4 to be graded. Total: 6 marks)

6. How might changes in the price of reinsurance affect an insurer’s retention decisions,
stating the type of market that drive these changes.
Solution

If the cost of reinsurance is high i.e. in a hard market (1 mark), an insurer’s retentions are, in
general increased (2 marks). In a soft market (1 mark), when cost of reinsurance is lower, an

insurer will usually retain less (2 marks).
(Grand Total: 6 marks)

7. Briefly explain what is meant by the following clauses:
@) follow the fortune; (b) claim control clause.
Solution

(@) Follow the Fortune: this means that the claims follow the underlying settlement
provided it was done in a proper and businesslike fashion and falls within the terms and
conditions of the reinsurance contracts. (3 marks)

(b) Claims Control Clause: this means that the reinsurer would assist the original insurer as
to the next steps (for example, appoint a surveyor or any other experts that may be required. The
reinsurer would, in effect step into the original underwriter’s position and handle the case.
Claims cooperation clause means that the original insurer agrees to involve the reinsurer in the

handling of a claim but all decisions are ultimately made by the original insurer. (3 marks)
(Grand Total: 6 marks)

8. @ Enumerate any three (3) objectives in relation to the designing of a reinsurance
programme.
(b) Enumerate any three (3) major pieces of information among others that
reinsurers will require when called upon to settle a claim.

Solution
@ The objectives in relation to the designing of a reinsurance programme are to:
* provide adequate protection; * simple and easy to operate;

* provide immediate financial relief in the area of large losses;

* provide support services in the area of management development.
(1 mark for each correct and completely stated objective. Maximum of 3 to be graded. Sub-Total: 3 marks)
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(b)  The major pieces of information among others that reinsurers will require when called
upon to settle a claim are:

* name of insured,; * date of occurrence of loss;

* policy coverage; * adjusters report.

(1 mark for each correct and completely stated objective. Maximum of 3 to be graded. Sub-Total: 3 marks)
(Total: 6 marks)

Part I1
Compulsory Question.
This question carries 50 marks.

9. @ State any four (4) requirements that must accompany all requests for Certificate
for Offshore Reinsurance (COR) as specified in the NAICOM prudential
guidelines. (10 marks)

(b))  Aninsurance Company purchased a risk excess of loss cover to protect its motor
insurance portfolio for the period 01/01/2022 to 31/12/2022 as follows:

. Deductible: N20,000,000.00
. 1st Layer Cover: AN30,000,000.00 Xs &20,000,000.00
. 2nd Layer : N50,000,000.00 Xs N50,000,000.00
. Premium Rate: 1st Layer: 5% Minimum and 15% Maximum
2nd Layer: 2.5% flat

Information
. Estimated Gross Net Premium Income @ 1/1/2022 = N800,000,000.00
. Gross Premium Income as at 31/12/2022: N1,000,000,000.00
. Facultative outwards in 2022: N100,000,000.00
. Facultative Inward in 2022: N200,000,000.00
. Losses paid/ recovered from January 2022 to 31st December 2022:

MN130,000,000 (1st layer 4100,000,000.00 and 2nd layer §30,000,000.00
. Outstanding losses as at 31st December 2022 for 1st layer = N50,000,000.00

. Outstanding losses on 2nd layer N10,000,000
Required:
Q) Calculate the Minimum & Deposit Premium payable by January 2022. (5 marks)
(i)  Compute the Actual Gross Net Premium Income as at 31/12/2022. (10 marks)

(ili) ~ Using the burning cost method with a loading factor of 100/80, Prepare the premium
adjustment statement and compute the actual rate, the actual premium due at the end of

31/12/2022. On both 1st and 2nd layer. (15 marks)
(iv)  Determine the additional premium payable (if any) on both first layer and second layer.
(5 marks)
(V) Comment on your observation(s). (5 marks)
Solution

@) As specified in the NAICOM prudential guidelines, all requests for Certificate for
Offshore Reinsurance must be accompanied by the following:

M Final Policy or Endorsement Issued by the Local Insurer not excluding the Signed
Schedule of Local Underwriters (Where not earlier provided at the Letter of Attestation stage);
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(i) Schedule attaching to the Policy or Cover Note issued by the Reinsurers or the
Foreign Brokers, which must amongst others state the Reinsurers' Order Hereon and each
Reinsurers' signed proportion;

(i) Evidence of full Premium Collection;

(iv)  Evidence of Premium Remittance to Local Insurers;

(V) Evidence of Premium Remittance to Foreign Reinsurers;

(vi)  Evidence of Payment of 1% ISS Levy;
(2 marks for each correct and completely stated requirement. Maximum of 4 to be graded. Total: 10 marks)

(b) Q) To calculate the M&DP payable in January on 1st Layer, we multiply the
minimum rate by the estimated gross net premium income

(i.e N800,000,000.00 x 5%) = N40,000,000.00. (1 mark)
The M&DP payable in January on 2nd layer

=MN800,000,000.00 x 2.5% = 20,000,000.00. (1 mark)
Hence, total M&DP payable in January for 1st and 2nd layer

=MN40,000,000.00 + N20,000,000.00 = N60,000,000.00. (3 marks)

(Sub-Total: 5 marks)

(i) Actual Gross Net Premium Income as at 31/12/2022 =

Gross written premium or Gross Premium Income + Facultative Inwards — Facultative outwards.
(6 marks — 2 marks each)

Therefore AGNPI = &1,000,000,000.00 + &200,000,000.00 — 4100,000,000.00 (2 marks)

AGNPI as at 31/12/2022 = N1,100,000,000.00. (2 marks)
(Sub-Total: 10 marks)

(ili)  To compute the premium adjustment for 1st layer using the burning cost method
Actual Rate = Incurred Loss/Earned premium (i.e losses paid+ losses outstanding/AGNPI
X100/8 0 X 100. = N100,000,000 + N50,000,000/N1,100,000,000 X 100/80 X 100

=17.05% (5 marks)
e Burning cost rate for 1st layer = 17.05%
e However, maximum rate of 15% would apply. (1 mark)
o Actual premium for the 1st layer: Actual Gross Net Premium income X 15%
={N1,100,000,000 x 15% (2 marks)
o o Actual Premium for 1st layer = N165,000,000.00 (3 marks)
e Actual Premium for 2nd layer = 2.5% (flat) x N1,100,000,000 = N27,500,000.00
(4 marks)

(Sub-Total: 15 marks)

(iv)  To determine the additional premium due

= actual premium — provisional premium or M&DP (1 mark)

1st layer = N165,000,000.00 —N40,000,000.00 = N125,000,000.00 (1 mark)

2nd Layer =N27,500,000.00 — ~20,000,000.00 = &7,500,000.00 (1 mark)
The total additional premium due (1st and 2nd layer) is =

N125,000,000 + N7,500,000 = N132,500,000.00. (2 marks)

(Sub-Total: 5 marks)
(V) Observation: It is observed that the Estimated Gross Net premium income is
understated. Again, the loss experience on the 1st layer was bad. A total of about N150m. The

Page 26 of 125



loading factor of 100/80 which is about 125% increase in the burning cost equally added to the
high adjustment rate and subsequently the high actual premium. The insurer is lucky to have
negotiated a maximum rate Of 15%. The Reinsurer would be looking at increasing the maximum

rate beyond 15% at the next renewal.
(2% marks for each correct and completely stated and justified explanation. Maximum of 2 to be graded.
Sub-Total: 5 marks)
(Grand Sub-Total: 40 marks)
(Grand Total: 50 marks)

Part I11
Answer THREE of the following FIVE questions.
Each question carries 34 marks.

10. (a) Explicitly enumerate any four (4) general requirements that should be considered
by reinsurers in handling claims presented by underwriters. (14 marks)
(b)  The ability of the reinsurer to pay promptly and in full when a valid claim is
presented is considered as part of the reinsured’s decision-making process when
negotiating any reinsurance contract. Explicitly discuss five (5) reasons why an
insurance practitioner should have a claims department. (20 marks)
Solution
@ The general requirements that should be considered by reinsurers in handling claims
presented by underwriters are:

. Examination of the question of coverage.

. Has a policy been issued for the insured? If so, what were the conditions on the
original policy and what was the sum insured?

. Have there been any amendments? If so, when?

. When does the original policy commence and when does it end?

. Is this risk mentioned in the claim covered under the original policy? Is there any
exclusion that might apply? If so, are they relevant to the whole claim or only for part
of it?

. Is the reinsurance cover to be refused as a result of the reinsured failing in any of its

duties? Reasons could be non-payment of the premium or failure to observe the
stipulations under the policy.

. Does the claim fall within the period of reinsurance?
(3%2 marks for each correct and completely stated requirement. Maximum of 4 to be graded. Sub-Total: 14
marks)

(b) The reasons why an insurance practitioner should have a claims department are:

e claims frequency is mounting all the time. For example, the rising number of accidents
resulting from the continuing increase in the number of cars on the road;

e technological developments have led to more complex and time consuming claims and
hence, the level of expertise required has also increased;

e claims processing is also made more complex by legal and legislative developments.
Also of importance is the increasing amount of international trade and the considerations
that they have to be given to the laws of individual countries from which the underlying
contracts emanate;
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claims department assist in passing information both vertically and horizontally, to all
parts of the company concerned. These information include:
o informing the underwriting department of adverse development in a risk, contract
or type of business or geographical areas;
o informing the underwriting department of any key changes in the claim practices
of any underlying reinsured;
o informing underwriting department and senior management of any legal
developments that could impact on the reinsurance company as a whole;
o keeping the company informed of any changes in the claims handling practice of
competition;
o informing the accounts department to make provision for any large claims that
may be required to be paid to the reinsured as cash call;
o the assessment and calculation of the reserves requirements of the company in
respect to the claims potential arising from their books of business.

(4 marks for each correct and completely stated reason. Maximum of 5 to be graded. Sub-Total: 20 marks)

11.

(Grand Total: 34 marks)

When negotiating terms and conditions of existing treaties, the reinsured may wish to

hold the existing structures or programme of treaties in place but to alter the terms and
conditions. Enumerate:
(a) four (4) possible changes which may be re-negotiated in respect of proportional treaties;

(16 marks)

(b) six (6) possible changes which may be re-negotiated in respect of non-proportional treaties.

(18 marks)

Solution
The possible changes which may be re-negotiated in respect of:

(@)

Proportional Treaties (Surplus and Quota Share) are:

capacity;

scope of treaty in terms of location and type of risks to be covered;

the most negotiated item is the commission, which reflects the contribution the reinsurer
1s making to the reinsured’s operating expenses. commission may be operated on a profit
or loss sharing basis and governs the treaty results, which is the price. the existence of
profit commission is also a factor;

the terms relating to premium and loss reserves, in terms of amount or basis on which
they are calculated, the amount of interest payable on withheld amounts may be
reviewed,

the amount payable as a cash loss;

frequency and settlement of accounts.

(4 marks for each correct and completely stated possible change. Maximum of 4 to be graded. Sub-Total: 16

(b)

marks)

Non-Proportional Treaties (Excess of Loss) are:

scope of the treaty in terms of location and type of risks to be covered;

basis on which the treaty is written; for example, losses occurring or claims made;
where the premium is calculated on a burning cost basis, the minimum and maximum
rates and the loading factors involved;
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the number of reinstatements allowable.

the basis of calculating the reinstatements premium i.e. as to time or amount and ratios
used;

the index to be used for the recalculation of deductibles and limits which are subject to
inflation in long tail liability business;

the definition of what constitutes a loss occurrence, an event and the amount of the vent
limit;

extent of the reinsured’s co-reinsurance in event covers;

amounts payable as minimum and deposit premium.

(3 marks for each correct and completely stated possible change. Maximum of 6 to be graded. Sub-Total: 18

12.

marks)
(Grand Total: 34 marks)

@ The reinsurer will consider the price to be charged for the cover under a non-
proportional reinsurance arrangement. In determining the price, the reinsurers consider
some factors. List and explain any six (6) factors that the reinsurers would consider in
such an instance. (18 marks)
(b) The annual reinsurance premium can be expressed in three ways under a non-

proportional treaty arrangement. List and explain any two (2) of these three ways.
(16 marks)

Solution
(@) The reinsurer will take the following factors into account:

exposures in the portfolio to be covered; for example, sums insured per risk and
aggregate exposures to natural perils;

required limits of cover;

retention of the reinsured, in non-proportional reinsurance the retention can also be called
the deductible or the priority;

past claims experience;

assumptions made regarding IBNER claims (incurred but not enough reported claims i.e
under-reserved reported claims;

reinsurer’s expenses, including any reinsurance brokerage payable and cost for their own
retrocession protection;

inflation: and any clauses designed to mitigate its effect at the reinsurance level

required profit margin;

reinstatement provisions and hence maximum downside.

(3 marks for each correct and completely stated factor. Maximum of 6 to be graded. Sub-Total: 18 marks)

(b)

The annual reinsurance premium can be expressed in one of the following:

Flat Premium: this is a fixed amount of money that has been agreed by reinsurers as
appropriate for the cover required. No percentage rate will be quoted for the cover and no
premium adjustment will need to be made at the end of the reinsurance period. Such an
arrangement is unusual, as it offers no protection for the reinsurer against an expansionist
approach by the reinsured, which would seriously increase exposure.

Fixed Rate Premium: this is applied to the subject premium income that is the
reinsured’s annual premiums in respect of the portfolio covered by the treaty.
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e Variable Rate of Premium: this is applied where the actual premium is related to the

loss experience (burning cost) under the treaty.
(4 marks for each correctly stated way. 4 mark for each correct and completely stated explanation. Sub-Total
per way: 8 marks. Grand Sub-Total: 16 marks)
(Grand Total: 34 marks)

13.  The following is extracted from the Fire Treaty arrangement of Hedge Insurance
Company Plc for 2022 underwriting year.

Gross Retention: N1,000,000.00

Surplus Treaty Cover: 15 Lines

Excess of Loss Cover:

1st Layer: N200,000.00 Xs N200,000.00
2nd Layer: N600,000.00 Xs N400,000.00

The insurance company underwrites a risk with sum insured of N20,000,000.00, retains
ANB800,000.00. Facultative proportional reinsurance is used to manage the excess of its

capacity.
Required:
@ Allocate the risk based on the sum insured. (17 marks)

(b) If there was a loss of N12,000,000, how will this be apportioned? (6 marks)
(©) How would the gross retained loss be apportioned between the reinsured and the
excess of loss reinsurers? (11 marks)
Solution

HEDGE INSURANCE COMPANY PLC - REINSURANCE PROGRAMME

Surplus treaty reinsurance
Gross Retention: 1,000,000 (1 Mark)
15 Lines surplus treaty 15,000,000 (1 Mark)

Excess of loss cover

Deductible 200,000
1st Layer 200,000 Xs 200,000 (1 Mark)
2nd Layer 600,000 Xs 400,000 (1 Mark)
(1 Mark)
Risk underwritten Sum insured 20,000,000.00
i Risk apporti

RETENTION AMOUNT RETAINED %  [SURPLUS TREATY AMOUNT |SURPLUS TREATY [FACULTATIVE AMT FACULTATIVE %

(2 marks each, 12

800,000.00 4.00% 12,000,000 60.00% 7,200,000.00 36.00%|marks in all)

i Loss apportil

loss amount 12,000,000

Retention @ 4% of N12,000,000 480,000.00 (2 Marks)

Surplus treaty @ 60% of N12,000,000 7,200,000.00 (2 Marks)

Facultative @ 36% of N12,000,000 4,320,000.00 (2 Marks)
i Gross retained loss apporti

Excess of loss claim apportionment

Gross retained liability 480,000} (2 Marks)

Deductible 200,000 (3 Marks)

1st layer cover liability 200,000 (3 Marks)

2nd layer cover liability 80,000.00 (3 Marks)

(Grand Total: 34 marks)
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14.  (a) What is “reinstatement” in reinsurance? (6 marks)
(b) Which excess of loss programme is not subject to reinstatement and why?
(4 marks)
(© Explain the two (2) common methods of calculating reinstatement premium.
(4 marks)
(d) The following was extracted from the treaty programme of Concession Insurance
Plc.
Excess of Loss Contract: N25,000,000.00 XS of &15,000,000.00
Reinsurance Earned Premium: N7,500,000.00
Period of Reinsurance: 01/01/2022 -31/12/2022
Reinstatement Provision: One reinstatement at 100% additional premium
Loss from Ground Up: N35,000,000.00
Required: Calculate the reinstatement premium. (10 marks)
(e) Excess of Loss Contract: N25,000,000.00 XS of N 15,000,000.00
Reinsurance Earned Premium: N7,500,000.00
Reinstatement Provision:  One reinstatement and Pro-rata as to amount and time
Loss from Ground Up: N35,000,000.00
Date of Loss: 01/11/2022
Period of Reinsurance: 01/01/2022 -31/12/2022
Required: Calculate the reinstatement premium. (10 marks)
Solution
@ “Reinstatement” in reinsurance can be defined to be .... (6 marks)

(@) Excess of loss contracts generally have a limit to the reinsurers’ liability. Where the
reinsured has a need to ‘reinstate’ the limits of liability (arising from the exhaustion of the
original reinsurance limit through the settlement of prior claims), the reinsured is often
charge a proportion of the original premium for this benefit. (3 marks)

If claims are paid prior to adjustment of the premium, cover will be provisionally reinstated
based on the deposit premium and later recalculated if the adjusted premium exceeds the
deposit premium (subject to the minimum premium stipulation) (3 Marks)

(b) Aggregate and Stop loss protections are not subject to reinstatement, this is because they
are constructed differently. (4 Marks)

(© There are two methods of calculating reinstatement premium, pro-rata to amount
irrespective of time or Pro rata to time and amount. (4 marks)
(d) Calculation of Reinstatement Premium
Loss to layer/Limit of layer x Layer Premium x Time Factor x 100/1

= Reinstatement Premium (4 marks)
However, this one is not prorated as to time. It is as to amount only.

Therefore,

20,000,000/25,000,000 x 7,500,000 x 100% = &6,000,000.00 = Reinstatement Premium (6 marks).

(Sub-Total: 10 marks)

(e) Calculation of Reinstatement Premium

Loss to layer/ Limit of cover x Earned Premium x Number of days to expiry (including date of
loss/Number of days in the year. (4 marks)
This is prorated as to amount and time.

- = (20,000,000/25,000,000) x 7,500,000 x 61/365 = N1,002,739.73

- Reinstatement Premium = N1,002,739.73 (6 marks)

(Sub-Total: 10 marks) (Grand Total: 34 marks)
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All answers are to be written on the answer booklet(s) supplied in accordance
with the following instructions:

Three hours are allowed for this paper.
Fill in the information requested on the answer booklet and on form B.

Handle the answer booklet with care.

Do not write on the question paper.

The answer booklet should be handed over personally by you to the
invigilator before you leave the Examination Hall.

Insert your candidate’s number as given on your admission permit and any
other particulars required on the cover and flap of the answer booklet.

Ensure that you write the full and correct candidate’s number.

No name should be written on any leaf of the book, or on any
supplementary leaves that may be issued to the candidates.

The answer to each question must be commenced on a separate page.
Where however, a question consists of two of more parts, this instruction do
not apply to the separate parts.

Write in the ruled margin the number and question attempted.
Leave no blank pages among your answers.

Where supplementary leaves are used, the candidate’s number should be
written in the space provided on them and fastened at the end of the book
inside the cover.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND VERBAL)
WILL ATTRACT STATED SANCTIONS AS STATED IN THE OCTOBER

2023 DIET CANDIDATES’ INSTRUCTIONS.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA
A03 - FINANCE AND ACCOUNTING
INSTRUCTIONS TO CANDIDATES
Three hours are allowed for this paper.

You should answer all questions in Part I, the compulsory question in Part Il and
three out of the five questions in Part III.

The paper carries a total of 200 marks distributed as follows:

Part 1 8 Compulsory Questions 48 marks
Part II 1 Compulsory Question 50 marks
Part IIT 3 Optional Questions 102 marks.

You are advised to spend not more than 45 minutes on Part [ and strongly advised
to attempt ALL the required questions to score maximum possible marks.

Where a question is split into parts (a), (b), etc, marks for each part are only shown
if they are split unevenly between the parts and you should spend your time in
accordance with the allocation.

In attempting the questions, you may find it helpful in some places to make rough
notes in the answer booklet. If you do this, you must cross through these notes
before you hand in the booklet.

A formula sheet will be issued for use with this paper.

It is important to show each step in any calculation, even if you have used a
calculator.

Answer each question on a new page. If a question has more than one part leave
several lines blank after each part.
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Chief Examiner’s Comment

Question 1

The examiner tested the candidates’ knowledge about common items on the balance sheet
(Statements of Financial Position). The question was well attempted (96.6%). The pass rate was
encouraging (88%). Candidates are advised to keep it up in future preparations.

Question 2

The question tested the knowledge of candidates about accounting concepts. The question was
well attempted (100%), whilst the performance was encouraging (87.5%). Majority of the
candidates displayed adequate knowledge of the concept as a result of their good preparation for
the examination. Candidates are advised to keep it up as there is no other way to excel in this type
of examination without proper preparation.

Question 3

The question tested candidates’ knowledge about the calculation of the unearned premium
provision, as well as the differences between profit centre and a cost centre. All candidates (100%)
attempted the question, while the pass rate was 88%. This is quite encouraging and displayed that
candidates’ prepared very well for this aspect of the syllabus. Candidates are advised to keep it up
and work harder, while preparing for future examinations.

Question 4

The question was meant to test candidates’ knowledge on the aim of cashflow statement and why
it is needed when viewed in line with IFRS accounting standards. The question was well attempted
(95.5%), while the pass rate was 78.57%. Candidates are advised to study harder as there is still
room for improvements in future examinations.

Question 5

The examiner tested candidates understanding of the concept of responsibility accounting as well
as reasons for budget review. The question was well attempted (97.7%), while the pass rate was
95%. This is an encouraging performance as this indicates that candidates are taking this course
more serious than before. Candidates are advised not relent on their good efforts in the future.

Question 6

This question tested candidates’ knowledge of solvency margin and factors affecting it sizes.
100% of the candidates attempted the questions, while 73% of them obtained a pass mark.
Majority of candidates displayed a good understanding of the concept tested. Candidates are
advised to keep it up and ensure that they master essay aspect of the syllabus while preparing for
the examination.

Question 7

The question intended to strike argument for and against insurance regulation. About 96%
attempted the question, while the pass rate is 94%. This indicated that most candidates prepared
very well for this question and covered the aspect of the syllabus very well. Candidates are advised
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to keep it up by ensuring that they cover every aspect of the coursebook in their preparation for
the examination in the future.

Question 8

The question was to test candidates’ ability on how to enumerate classifications of insurance
business for accounting purposes. The question was well attempted by virtually all the candidates
(97%), while the pass rate is 81.8%. This is an encouraging performance. Candidates are advised
to keep it up and work harder for the examination.

Question 9

The question tested the candidates’ ability and knowledge of preparing a simple statement of
financial position of a company. It is a compulsory question, carrying 50marks. All the candidates
made an attempt at the question but only about 49% of them got pass marks. It was an average
performance.

Question 10

The first part of the question tested candidates’ knowledge of accounting terms such as premium,
expenses, claims and unexpired risks, while the second part tested candidates’ knowledge about
internally generated good will and its treatments. About 82% of the candidates attempted the
questions while about 39% obtained a pass mark. A lot still need to be done to improve the
knowledge of candidates in this very important area of the course, while preparing for future
examinations.

Question 11

The examiner tested candidates’ knowledge about absorption costing, product costing and activity-
based costing. Many candidates did not attempt this question being an optional question and may
be because they did not prepare very well in that area of the syllabus. Only 14.20% attempted the
question, while the pass rate was 64%. Candidates are advised to study harder in this area of the
syllabus.

Question 12

The question tested the knowledge of candidates on solvency margin and factor affecting its size
as well as knowledge of double taxation. The question was well attempted (96%), while the pass
rate was 94%. The performance was encouraging. Candidates are advised to keep it up and ensure
they prepare very well in future examinations.

Question 13

The question tested candidates” knowledge on standard costing and its classification with the aids
of diagrams (where applicable). The question was well attempted 91% and the pass rate was 85%.
The performance was very good. Candidates are advised to keep it up and study harder.
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Question 14

This question tested candidates’ knowledge of investment appraisal. Only 25 candidates (14%)
attempted the question. This may be due to lack of understanding of the concepts tested. 52% of
those attempted passed. Many candidates avoided the question, probably because of lack of
adequate preparation. Candidates are therefore advised to study harder in their future preparations
for the examination.

Comments on Overall Performance
The overall performance was good at 68.2% pass rate. This is very high in the recent time. It is
observed that candidates are taking interest in the course and this is reflecting in their performance.

Suggestions on Improvements (if any)

Candidates can perform better if they study harder and ensure that every aspect of the syllabus are
well covered in their preparations.
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A03
Part I
Answer ALL questions in Part I.
Each question carries six (6) marks.

1. The profit and loss account is part of the double-entry system. What then is the balance
sheet? List three (3) sections of a typical balance sheet (statement of financial position).
Solution
The balance sheet or Statement of Financial position is a listing of balances remaining on
individual accounts at a given date- assets, liabilities and capital. It is not itself a ledger account.
The three sections of a typical balance sheet (statement of financial position) are:
Assets; Liabilities; Capital.
(2 marks for each correctly stated section. Maximum of 2 to be graded. Sub-Total: 4 marks)
(Grand Total: 6 marks)

2. Identify the four (4) basic accounting concepts.

Solution

The four basic accounting concepts are:
* going concern concept; * accrual concept;
* consistency concept; * prudence concept.

(1%2 marks for each concept correctly stated. Maximum of 4 to be graded. Total: 6 marks)

3. @ What is the basis of calculation of the unearned premium provision? (2 marks)
(b) What is the difference between a profit centre and a cost centre? (4 marks)

Solution

@ The basis of calculation of unearned premium provision is normally, a time basis (where
this does not equate with incident risks another basis may be used). (2 marks)

(b) A profit centre is a branch/unit/division of an organisation that directly adds or that
normally add to the bottom-line or profits of the organisation as a whole (2 marks) while a
cost centre is a branch/unit/ division of an organisation that does not directly add to the
profit or bottom-line of the organisation but still costs the organisation money to operate.

(2 marks)
(2 marks for the correctly stated difference. Sub-Total: 4 marks)
(Grand Total: 6 marks)
4. What is the aim of cash flow statement and why is it needed when reviewed in line with
IFRS accounting standards?
Solution

The aim of the cash flow statement is to give a transparent account of the movement of cash into

(2 marks) and out of (2 marks) a company. It is required by IFRS 1 (2 marks).
(Total: 6 marks)

5. €)) What is the basis of responsibility accounting? (2 marks)
(b) Enumerate any two (2) reasons why budget review is important. (4 marks)
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Solution
€)) The basis of responsibility accounting is that responsibility accounting allocates costs
e.t.c. to the management with responsibility for them and deviations from budget can be
attributed to the person in charge. (2 marks)
(b) The reasons why budget review is important are:
e budget review enable management to identify items not proceeding according to plan;
e budget review enable management to take corrective action.
e Budget review enables management to forecast for the future
e Budget review enables management reward their employee or sanction them accordingly

(2 marks for each correct and completely stated reason. Maximum of 2 to be graded. Sub-Total: 4 marks)
(Total: 6 marks)

6. Enumerate any six (6) factors affecting the size of solvency margin.
Solution
The factors affecting the size of solvency margin are the:
* size of the insurer; * type of business undertaken;
* efficiency of management; * risks of outstanding claims exceeding provisions;
* possibility of a collapse in investment values at a time when cash is needed:;
* danger of default by debtors, particularly reinsurers;
* effect of increase in inflation rate; * degree of exposure to exchange rate risks;
* existence of equalisation or other reserves counted as liabilities;

* bases of valuing assets and liabilities.
(1 mark for each correctly stated factor. Maximum of 6 to be graded. Total: 6 marks)

7. Enumerate an (1) argument for and any two (2) arguments against insurance regulation.
Solution
Argument for and against insurance supervision are as tabulated below:

S/No. For Against

1 Protection of policyholders Contrary to supervision

2 Protection of general public Inefficient

3 Expensive

4 Suppression of competition

(2 marks for each correct and completely stated argument. Maximum of 1 — for and 2 — against to be graded.
Total: 6 marks)

8. Enumerate any six (6) of the ten classifications of insurance business for accounting
purposes.
Solution
The ten classifications of insurance for accounting purposes are:
* accident and health; * aircraft, damage and liability;
* motor vehicle (including damage to other land vehicles) damage and liability;
* ships, damage and liability; * goods-in transit;
* property damage; * general liability; ~ * pecuniary loss;
* non-proportional treaty reinsurance; * proportional treaty reinsurance.

(1 mark for each correctly stated classification. Maximum of 6 to be graded. Total: 6 marks)
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Part 11

Compulsory Question
This question carries 50 marks.

9. @ Enumerate the four (4) examples of ethical practices required from a member of
the Chartered Insurance Institute of Nigeria (CIIN). (10 marks)

(b) MOSAFOTE PIc has authorised share capital of N20,000,000.00 divided into
600,000 ordinary shares of N25.00 each. 50,000 8% preference shares of 8100.00
each. After ascertaining the net profit for the year ended 31 December 20X2, the
following balances remained in the ledger: Dr Cr

AN’000 N°000

50,000 8% Preference share of 100 each 5,000

600,000 Ordinary shares of N25 each 15,000

Retained Earnings 2,380

General Reserve 2,278

Trade Receivables 830

Trade Payables 652

Inventory 1,200

Freehold Property at Cost 11,890

Plant and Machinery at Cost 14,000

Provision for depreciation on plant and machinery 6,000

Furniture and Fittings at Cost 1,000

Provision for Depreciation on Furniture and Fittings 400

Cash at Bank 2,790

After extracting the above balances, it was decided to pay a full year’s dividend on the

preference shares and the directors decided to recommend a dividend of 7% on the

ordinary shares and to transfer N800,000.00 to general reserve.

Required: Prepare the statement of financial position of MOSAFOTE Plc as at 31%

December 20X2 in accordance with the requirements of International Financial Reporting

Standards. (State any necessary IFRS required notes). (40 marks)

Solution
@ The examples of ethical practices required from a member of the Chartered Insurance

Institute of Nigeria (CIIN) are:

acting responsibly and with integrity in their professional activities at all times to their
clients and the society as a whole;

compliance with the code of ethics, all relevant laws and other regulatory requirements
and appropriate code of practice and codes of conduct;

demonstrating professional competence by meeting the technical and professional
standards commensurate to their level of qualification and position of responsibility and
completing their duties with due skill, care and diligence;

upholding professional standards in all dealings and relationships;

respecting the confidentiality of information acquired in professional and business
relationships;
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e applying objectivity in making professional judgments and giving opinion and

statements.
(2%2 marks for each correct and completely stated ethical practice. Maximum of 4 to be graded. Total: 10
marks)
(b) Working Notes
Property, Plant and Equipment (W1)
Cost Accumulated Depreciation Net Book Value
AN’000 AN’000 AN’000
Freehold Property 11,890 - (1/2 mk) 11,890 (1/2 mark)
Plant and machinery 14,000 6,000 (1/2 mk) 8,000 (1/2 mark)
Furniture and Fittings _1,000 400 (1/2 mk) 600 (1/2 mark)
26,890 (1 mk) 6,400 (1 mk) 20,490 (1 mark)
Dividend on preference shares (W2)= 8% of N5,000,000.00 = N400,000.00 (1 mark)
Dividend on ordinary shares = 7% of N25,000,000,00 = N1,750,000.00 (1 mark)

According to IFRS, dividends declared but not paid as at the end of the financial year should
only be reflected in notes to the statements. As a result, there can be no dividend payable at the

year end. (1 mark)
Retained earnings (W4) N’000
Ledger balance 2,380 (1/2 mark)
Less transfer to General Reserve (800) (1/2 mark)
Ending balance 1,580
General Reserve (W5)=N2,278.000.00 (1/2 mark) +N800,000.00 (1/2 mark) = N3,078,000.00
(1 mark)
(Sub-Total: 15 marks)
Anugwa Plc
Statement of Financial Position as at 315t December, 20X2 (1 mark)
A000 N°000
Assets:
Non-Current assets: (1/2 mark)
Property, Plants & Equipment (w1) 20,490 (2 marks)
Current Assets: (1/2 mark)
Inventory 1,200 (2 marks)
Trade Receivables 830 (2 marks)
Cash at bank 2,790 (2 marks)
4,820 (2 marks)
Total Assets 25,310 (1 mark)
Equity and Liabilities
Equity: (1/2 mark)
600,000 ordinary shares at N25 each 15,000 (2 marks)
50,000 8% Preference shares at N100 each 5,000 (2 marks)
General Reserve (W4) 3,078 (2 marks)
Retained earnings (W5)
24,658 (2 marks)
Current Liabilities (1/2 mark)
Trade Payable 652 (2 marks)
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Total Equity and Liabilities 25,310 (1 mark)
(Sub-Total: 25 marks)
(Grand Total: 50 marks)

Part II1
Answer THREE of the following FIVE questions.
Each question carries 34 marks.

10. (a) In accordance with insurance accounting, write short notes on the
following terms:
(i) premium; (i) expenses; (iii) claims;  (iv) unexpired risks.
(24 marks)
(b) Q) Why is internally generated goodwill not shown in the balance sheet?
(3 marks)
(i) Which type of goodwill is shown in the balance sheet? (4 marks)
(iii)  State the reason why this (ii above) is so. (3 marks)
Solution

(@ (i) Premiums: the figures published should make allowances for pipeline premiums (i.e.
those where business has been written but premiums not yet finalized) and lapses. Unearned
premiums are to be calculated on a time apportionment basis unless due to the unevenness of the
incidence of risk a more appropriate method can be used: the provision should not have any
deduction made for deferred acquisition costs- (DAC’s). Gross premium should be shown, with

related reinsurance premiums as a deduction.
(3 marks for each correct and completely stated explanation. Maximum of 2 to be graded.
Sub-Total: 6 marks)

(if) Expenses — capital and revenue expenses should be distinguished and accounted for on an
incurred basis. Deferred acquisition costs should be calculated accurately. Any bad debt

provision should be charged against expenses.
(3 marks for each correct and completely stated explanation. Maximum of 2 to be graded.
Sub-Total: 6 marks)

(iii) Claims: provisions for outstanding claims should include a figure for related claims
handling expenses: like premiums, claims should be shown gross with a separate statement of
reinsurance recoveries. Where fund accounting is practiced, cross-funding is unacceptable (that
is, transfer between separate open funds).

(3 marks for each correct and completely stated explanation. Maximum of 2 to be graded. Sub-Total: 6
marks)

(iv) Unexpired risks: these are to be calculated at enterprise level and in assessing the need for
and amount of any provision investment income may be considered but no adjustment should be

made in respect of deferred acquisition costs, which should be carried forward separately.
(3 marks for each correct and completely stated explanation. Maximum of 2 to be graded. Sub-Total: 6
marks)
(Grand Sub-Total: 24 marks)

(b) (i) Internally generated goodwill is not shown in the balance sheet because of valuation.
(3 marks)
(i1) The type of goodwill that is shown in the balance sheet is purchased goodwill.
(4 marks)
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(iii) The reason the purchased goodwill is shown is because it is an increase in value over
the company’s assets where its liability (classified as an intangible asset and is considered

to have an indefinite useful life) (3 marks)
(Grand Sub-Total: 10 marks)
(Grand Total: 34 marks)

11. (a) State two (2) reasons why absorption costing inappropriate when

considering whether or not to discontinue a line of business. (10 marks)
(b) Enumerate three (3) aims of product costing in accounting. (15 marks)
(© How may the activities of a business be analysed under “activity-based

costing”. (9 marks)

Solution

@ When a decision whether or not to discontinue a line of business is being undertaken the
use of absorption costing would tend to hide the allocated costs being borne by that line and
which would need to be charged to others if they were to be dis-continued. It could also be used

when false conclusions might emerge.
(5 marks for each correct and completely stated explanation. Maximum of 2 to be graded. Sub-Total: 10
marks)

(b) Product costing in accounting seeks to establish a procedure by which expenses can be
allocated to the products or services for which they are being incurred. It also provides the final
piece of information which the accounting recording system lacks in terms of establishing
products profitability and the first stage is to distinguish between those costs which are directly
incurred in this process and those which are indirect or overhead to it. It also makes accurate

allocation quite impossible.
(5 marks for each correct and completely stated explanation. Maximum of 3 to be graded. Sub-Total: 15
marks)

(©) Under “activity-based costing”, activities may be classified as
(i) core; (i) support; and (iii) discretionary.
(3 marks for each correctly stated activity. Sub-Total: 9 marks)
(Grand Total: 34 marks)

12. (a) Define and briefly explain the term “solvency margin” and identify any

five (5) main factors affecting its size. (24 marks)
(b) What is double taxation? State its relief. (10 marks)
Solution
@ Solvency margin can be explained as the excess of the value of (an insurer’s) assets over

the amount of its liabilities, that value and amount being determined in accordance with any
applicable valuation regulations. It is a sort of cushion and like a cushion its desirable size depends
on the contours of the user (the profile of the insurer) and the circumstances of its use (the

economic and financial environment).
(2 marks for each correct and complete explanation. Maximum of 2 to be graded. Sub-Total: 4 marks)

The main factors that affect the size of the solvency margin are the:
e size of the insurer (net retentions);
e types of business undertaken (class and geography);
e efficiency of management (claims and expense control, underwriting ability);
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risk of outstanding claims exceeding provisions therefore;

possibility of a collapse in investment values at a time when cash is needed,

danger of default by debtors, particularly reinsurers;

harmful effects of an increase in inflation rates, whether general or specific in relation to
the business, such as motor repair costs or court awards;

e degree of exposure to exchange rate risk;

e existence of equalisation or other reserves counted as liabilities;

e Dases of valuing assets and liabilities.
(4 marks for each correct and completely stated factor. Maximum of 5 to be graded. Sub-Total: 20 marks)
(Grand Sub-Total: 24 marks)

(b.) Double taxation relief is a reduction of tax payable by amounts of foreign tax payable on the
same profits. (4 marks).

The relief of double taxation is explained as stated further. For example in the United Kingdom,
where a UK company controls at least 10% of the voting share capital of an overseas company,
the UK company will also be allowed credit for the underlying tax applicable to the dividend
received from the overseas company. Also, relief of this kind can be obtained if, after 1 April 1982:

- such a voting power (which was 10% or more) has fallen below 10%; or

- such a voting power of less than 10% has been acquired in exchange for a shareholding

which was entitled to relief.

Providing that the change could not have been prevented by the UK investing company and that
no reasonable endeavours on their part could have restored or increase the voting power to 10%.
Where a UK insurance company carries on general insurance business through an overseas branch
or agency the company will also be allowed credit (subject to certain limitations) for underlying
tax applicable to dividends which are received from overseas companies and which are directly
relating to the branch business. The net dividends received are grossed up by the rate of
withholding tax and the rate of underlying tax, the resultant figure being charged to corporation
tax. The foreign taxes suffered may be off set against corporation tax other than ACT; where this

is not payable withholding tax only may be treated as an expense.
(3 marks for each double taxation relief explained. Maximum of 2 to be graded. Sub-Total: 6 marks)
(Grand Sub-Total: 10 marks)
(Grand Total: 34 marks)

13. @ Define the phrase “standard costing”. List and explain its three (3)
classifications. (9 marks)
(b) Write short notes on any five (5) of the following cost classifications, and explain
also with the aid of a diagram (where applicable):

Q) variable cost; (i) fixed cost; (iii) step costs;

(iv)  incremental/marginal cost; (V) relevant cost; (vi) sunk cost;

(vii)  opportunity cost. (25 marks)
Solution

@ Standard Costings are pre-determined costs/target costs that should be incurred under
efficient operating conditions. Unlike budgets which relate to total activity, they provide a
target level of the unit cost. (3 marks)

Its three classifications are:
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Basic Cost Standards: are constant and left unchanged over long periods of time. They are
seldom used as they do not reflect changes in methods of operation. It has the advantage of
consistency of comparison over long periods.

Idea Standards: represent perfect performance and are the minimum costs which are possible
under the most efficient operating conditions. They are rarely used unless they are perceived to
have a motivational impact. They represent an unachievable target.

Currently Attainable Standards: represent those costs which should be incurred under

efficient operating conditions. They are difficult but not impossible to achieve.
(1 mark for correctly stated classification and 1 mark for correct and completely stated explanation. Sub-
Total per classification: 2 marks. Grand Sub-Total per classification: 2 marks. Grand Sub-Total: 6 marks)
(Grand Sub-Total: 9 marks)
(b)

Q) Variable Cost: vary in direct and linear relationship to activity e.g. if the commission

rate is 15% of premium, then every N1.00 premium hurdle will pay §15,000.00 to the
intermediary.

Cost Variable Cost

Activity Volume (5 marks)

(i) Fixed Cost: remains constant for a specified period of time regardless of the level of
activity. They are sometimes called period fixed costs because in the long-term, all costs vary.

Cost Fixed-Cost

Activity Volume (5 marks)

(iii)  Incremental/Marginal Cost: basically, this establishes the additional costs or revenues
resulting from a decision. (5 marks)

(iv)  Step Costs: are fixed for a given level of activity but eventually increase at some critical
points e.g. when greater activity involves extra staff or machines or premises.

Cost Step Cost

Activity Volume (5 marks)
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(V) Relevant Costs: costs and revenues can be classified as to whether they are relevant to a
particular decision e.g. if you are deciding whether to go by a car or a motorcycle, then the car
insurance cost is irrelevant as it stays the same whether the car is used or not, the relevant cost is
the petrol cost. (5 marks)

(vi)  Sunk Costs: are those already incurred and which will be totally unaffected by the
proposed alternatives. They are irrelevant for decision making. (5 marks)

(vii)  Opportunity Costs: are those which measure the sacrifice of choosing one alternative

course of action which requires another alternative to be discarded. (5 marks)
(Maximum of 5 terms to eb graded. Grand Sub-Total: 25 marks)
(Grand Total: 34 narks)

14.  Suleiman Nigeria Limited is considering a capital investment proposal, where two
alternatives involving differing degrees of mechanisation are being considered.

Machine 1 Machine 2

N N
Cost 2,180,000 8,050,000
Residual Value 280,000 1,500,000
Annual Cashflows 1,000,000 2,500,000

Both investments would have a five-year life span. Depreciation is provided on a straight-line
basis. The cost of capital is 15%.

You are required to calculate for each alternative:
@ Net Present Value (16 marks); (b) Payback period (6 marks);
(©) Accounting Rate of Return (6 marks);
(d) Advise the company based on each of the investment appraisal techniques

(6 marks).
Solution
@ Calculation of Net Present Value
Year | Items Cash Flow | Discount | Present
™) Factor Value (N)
(15%)
Machine 1 0 Cost
1-5| Inflow
5 Residual Value
Year | Items Cash Flow | Discount Present Value
N Factor N
(15%)
Machine 2 0 Cost
1-5 | Inflow
5 Residual
Value
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(1 mark for each correctly stated figure in coloured ink. Sub-Total: 20 marks)
(b) Calculation of Payback Period
Payback Period = Initial Outlay
Annual Cash Inflows

Machine 1 Machine 2
2,780,000 8,050,000
1,000,000 (2 marks) 2,500,000 (2 marks)

= 2 years 9 months (1 mark) 3 years 3 months (1 mark)
(Sub-Total: 6 marks)

(© Calculation of Accounting Rate of Return
ARR = Average Annual Profit x 100

Average Investment 1 (1 mark)
Machine 1 Machine 2
Annual Depreciation 2,780,000 — 280,000 8,050,000-1,500,000
5 5
= N500,000 =MN1,310,000
Annual Profit = Profit - Depreciation
1,000,000 — 500,000 2,500,000- 1,310,000
= N500,000 =MN1,190,000
Average Investment = Cost + Residual Value
2
2,780,000 — 280,000 8,050,000- 1,500,000
2 2
= N1,530,000 =N4,775,000
ARR = 500,000 x 100 1,190,000 x 100
1,530,000 1 (1% marks) 4,775,000 1(1% marks)
= 33% (1 mark) 25% (1 mark)

(Grand Total: 34 marks)

(d) Q) Based on Net Present Value Technique: Suleiman Nigeria Limited should

select machine 2 because it has a higher Net Present Value. (2 marks)
(i) Based on Payback Period Technique: Suleiman Nigeria Limited should select Machine
1 because it has a shorter payback period. (2 marks)

(i)  Based on the Accounting Rate of Return (ARR) Investment Appraisal Technique:
Suleiman Nigeria Limited should select machine 1 because it has a higher Accounting Rate of

Return. (2 marks)
(Sub-Total: 6 marks)
(Grand Total: 34 marks)
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CHARTERED INSURANCE INSTITUTE OF NIGERIA
ASSOCIATESHIP
OCTOBER 2023 DIET EXAMINATION PAPER

SUBJECT A04
PRINCIPLES OF PROPERTY AND PECUNIARY INSURANCES

All answers are to be written on the answer booklet(s) supplied in accordance
with the following instructions:

Three hours are allowed for this paper.
Fill in the information requested on the answer booklet and on form B.

Handle the answer booklet with care.

Do not write on the question paper.

The answer booklet should be handed over personally by you to the
invigilator before you leave the Examination Hall.

Insert your candidate’s number as given on your admission permit and any
other particulars required on the cover and flap of the answer booklet.

Ensure that you write the full and correct candidate’s number.

No name should be written on any leaf of the book, or on any
supplementary leaves that may be issued to the candidates.

The answer to each question must be commenced on a separate page.
Where however, a question consists of two of more parts, this instruction do
not apply to the separate parts.

Write in the ruled margin the number and question attempted.
Leave no blank pages among your answers.

Where supplementary leaves are used, the candidate’s number should be
written in the space provided on them and fastened at the end of the book
inside the cover.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND VERBAL)
WILL ATTRACT STATED SANCTIONS AS STATED IN THE OCTOBER

2023 DIET CANDIDATES’ INSTRUCTIONS.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA
A04 - PRINCIPLES OF PROPERTY AND PECUNICARY INSURANCES
INSTRUCTIONS TO CANDIDATES
Three hours are allowed for this paper.

You should answer all questions in Part I, the compulsory question in Part II and
three out of the five questions in Part III.

The paper carries a total of 200 marks distributed as follows:

Part 1 8 Compulsory Questions 48 marks
Part II 1 Compulsory Question 50 marks
Part IIT 3 Optional Questions 102 marks.

You are advised to spend not more than 45 minutes on Part [ and strongly advised
to attempt ALL the required questions to score maximum possible marks.

Where a question is split into parts (a), (b), etc, marks for each part are only shown
if they are split unevenly between the parts and you should spend your time in
accordance with the allocation.

In attempting the questions, you may find it helpful in some places to make rough
notes in the answer booklet. If you do this, you must cross through these notes
before you hand in the booklet.

A formula sheet will be issued for use with this paper.

It is important to show each step in any calculation, even if you have used a
calculator.

Answer each question on a new page. If a question has more than one part leave
several lines blank after each part.
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Chief Examiner’s Comments:

Question 1

The question tested candidates’ knowledge on bonds in the insurance market. Over 95% of the
total candidates attempted this question. Majority of the candidates showed good understanding
of the question. Pass rate was 70%.

Question 2

The question tested candidates’ knowledge on the impact of fire-break door warranty on claims,
and employers’ liability on the acts of an independent contractor. 96% of the total candidates
attempted this question. Candidates demonstrated fair understanding of the questions. Pass rate
was 59%.

Question 3

The question tested candidates’ knowledge on the roles/tasks that a property underwriter should
perform in the case of change of risk. This question was attempted by over 95% of the candidates
which resulted in 65% pass rate. Candidates showed good understanding of the question.

Question 4

The question tested candidates’ knowledge on renewal of insurance policies. This question was
attempted by over 99% of the total candidates with overall performance below average. Pass rate
was 40%.

Question 5

The question was attempted 98% of the total candidates. The question is popular, but
performance is poor. Pass rate was 40%. Candidates have to improve their knowledge on the
contents of insurance of building under construction.

Question 6

The question tested candidates’ knowledge on proximate cause. This question was very popular
with 99% of the candidates attempting it. The question is basic and fundamental to fire
insurance, Pass rate was 61%.

Question 7
Candidates did not understand the questions, and those that attempted it performed woefully.
Pass rate was 0%.

Question 8
Generally, candidates’ performance on this question was abysmal. Pass rate was 11%.

Question 9
The questions were straightforward and practical. Overall performance was good. Pass rate was
69%.

Question 10

This was an optional question that was attempted by only five candidates, Overall performance
was woeful with 0% pass rate.
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Question 11
This question was avoided by majority of the candidates. Of the 33% that attempted it,
performance was poor with 15% pass rate.

Question 12
This question was popular with 77% of the candidates attempting it. Pass rate was 57%.

Question 13
72% of the total candidates attempted this question but performance was poor. Pass rate was 18%.

Question 14
This question was attempted by 87% of all the candidates. Overall performance at 9% pass rate
showed poor understanding, of the question.

Comments on Overall Performance

Majority of the candidates did not study the coursebook. There was inadequate preparation for the
examination. Overall pass rate was 28%

Suggestions on Improvements (if any)

This course/subject is very important for Nigeria insurance industry. Candidates must be supported
and encouraged to study, understand and be able to present what they have studied clearly.

A04
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Part 1
Answer ALL questions in Part I.
Each question carries six (6) marks.

1. List any six (6) commonly sold bonds in any country’s insurance market.
Solution
The commonly sold bonds in any country’s insurance market are:
* court bond; * government bond; * pbankruptcy bond;
* liquidation bond;  * local government bond;  * performance bond;
* bid or tender bond; * custom bond; * maintenance bond,;
* retention bond; * advance payment bond.
(1 mark for each correctly stated bond. Maximum of 6 to be graded. Sub-Total: 6 marks)
2. @ How does the breach of a fire-break door warranty affect an impact claim on a
fire and special perils policy? (2 marks)

(b) Enumerate any two (2) circumstances where an employer will be liable for the
acts of an independent contractor under construction insurance. (4 marks)

Solution
@ The breach of a fire-break door warranty does not affect an impact claim on a
fire and special perils policy? (2 marks)

(b) The circumstances where an employer will be liable for the acts of an independent
contractor under construction insurance are where:
e extra hazardous work is involved,; * the work is unlawful;
e control is retained, by way of machinery or labour supplied,;
e there is a statutory duty to carry out the work in a particular manner;
e Use of an incompetent contractor; * liability arises from fire damage.
(2 marks for each correct and completely stated compromise. Maximum of 2 to be graded. Sub-Total: 4

marks)
(Grand Total: 6 marks)

3. In a case of change of risk, give any six (6) roles/tasks that a property/pecuniary
underwriter should perform.
Solution
The roles/tasks that a property/pecuniary underwriter should perform are:
* identify the perils; * check the general acceptability of the proposer and risk’
* identify the underwriting factors and estimated maximum loss;
* establish the type of risk and acceptance class;
* apply the acceptance limit for the class;
* determine rating factors;
* determine terms and conditions or warranties or endorsement;
* collect premium.
(1 mark for each correct and completely stated role. Maximum of 6 to be graded. Total: 6 marks)

4. State any six (6) issues which both insurer and insured consider at renewal of the
insurance policies.
Solution
The issues which both insurer and insured consider at renewal of the insurance policies are:
o is the business classification still being underwritten;
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o cost of providing cover any increase in price;

o risk address or post code;
o if the business interruption insurance applies to several premises does rate require
review;

risk index up-date;

change in sum insured/deductible;

any increase in business growth or expansion;

loss or claim experience over the year;

review of EML and reinsurance or co-insurance needed in the coming year

Other but same factors & matters for insured self-consideration to continue with
insurer are:-

cost efficiency of the policy;

adequacy of cover, policy protection and attention to risks details;

value review in line with general price index or inflation;

cash flow, business performance, appropriateness of indemnity period chosen;
paying attentions to new development in the insurance market;

has insurer request for risk improvement to be put in place such as sprinklers, fire
appliances, intruder alarms, shutters, vehicle alarms, CCTV, security patrols, fire-

break walls, floors and doors fire alarm.
(1 mark for each correct and completely stated issue. Maximum of 6 to be graded. Total: 6 marks)

5. Give three (3) wide range of risks that “developers” (into construction projects) who
provide property service(s) are exposed to in this modern time.
Solution

The wide - range of risks that “developers” (into construction projects) who provide property
service(s) are exposed to in this modern time are:

* risk of construction damage; * risk of construction liabilities;

* risk of loss “potential development profit”;

* risk of continuing interest charges on borrowings.
(2 marks for each correct and completely stated range. Maximum of 3 to be graded. Total: 6 marks)

6. @ Define “proximate cause”. (3 marks)
(b) State a main insurable peril in each of the following risk categories:
(i) chemical, (i) social; (iii) natural. (3 marks)
Solution

@ Proximate cause is the active efficient cause (1 mark) which sets in motion a train of
events that brings about a result (1 mark); without the intervention of any force starting and
working actively from a new and independent source (1 mark). (3 marks)

(b) The main insurable perils in each of the following risk categories are:
(i) chemical: explosion; spontaneous combustion; self-heating.
(ii) social: riot, civil commotion, strikers, locked-out workers; persons taking part in
labour disturbances.
(iii) natural: storm, flood, earthquake, subterranean fire, subsidence, ground heave,
landslip.

(1 mark for each correctly stated peril. Maximum of 1 to be graded under each term. Sub-Total: 3 marks)
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(Grand Total: 6 marks)

7. Enumerate any four (4) circumstances whereby, “bugs” and “viruses” - under computer
business interruption will not be covered.
Solution

The circumstances whereby, “bugs” and “viruses” - under computer business interruption will
not be covered are:

* permanent loss of data; * permanent loss of programs;
* permanent loss of software; * temporary loss of data;

* temporary loss of programs; * loss of use of data;

* loss of use of programs; * inaccessibility of data;

* inaccessibility of programs; * inaccessibility of software.

(1% marks for each correctly stated non-coverage terms. Maximum of 4 to be graded)
( Grand Total: 6 marks)

8. Explain any two (2) reasons why marine clause exclusions will appear in any fire/special
perils policy.
Solution
The reasons why marine clause exclusions will appear in any fire/special perils policy are:
o because the property would have pay but for the existence of this policy be insured by
any marine policy. it is possible marine cargo policy contains a similar clause worded
the other way round;

o loss/damage occurred on way to warehouse will not be covered by fire policy but the
marine policy provided can be extended to cover same (warehouse to warehouse);
o damage inside warehouse by fire will be addressed by fire plus special perils covers

same goods inside warehouse and there is fire/peril loss the 2 policies will share cost

in proportion to their sum insured on the item/property.
(3 marks for each correct and completely stated reason. Maximum of 2 to be graded. Total: 6 marks)

Part I1
Compulsory Question.
This question carries 50 marks.

9. @ (i) Who regulates the insurance industry in the country that you are writing this
examination? (2 marks)
(i1) State the trade association for insurers, brokers, loss adjusters and agents
respectively in that country’s insurance industry. (8 marks)
(b) (1) What does the phrase “leading office” imply? (2 marks)
(i) State any four (4) roles of a leading office in an insurance placement.
(8 marks)

(c) Fire and special perils policies was placed with your company that is leading with
the following details:
* Your company as A share is 50%; * Company as B share is 30%;
* Company as C share is 15%; ** Company D share is 5%.
* Broker’s Commission Rate: 20%.
Lead Office Overriding Expense Commission: 2.5%
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The sum insured is N500, 000,000.00 and the premium paid on November 1, 2022 was
N10, 000,000.00. On December 5, 2022, fire broke out, an adjuster was appointed and
the adjuster submitted a recommended discharge for N80,000,000.00 and an adjuster fee
of N1,500,000.00; which was approved for sign-off by the leading office.
Q) calculate the sum insured each co-insurer in the group will bear. (4 marks)
(i) calculate the gross and net premiums that each co-insurer is entitled to as
the broker paid total premium to your company; (14 marks)
(ili) Do apportionment of the adjuster’s fees and claims accordingly. (12 marks)
Solution
@) 0] National Insurance Commission (NAICOM) (2 marks)
(i) Insurers: - Nigerian Insurers Association
Brokers: - Nigerian Council of Registered Insurance Brokers
Loss Adjusters: -Institute of Loss Adjusters of Nigeria

Agents: -Association of Registered Agents of Nigeria.
(2 marks for each correctly stated association. Sub-Total: 8 marks)
(Grand Sub-Total: 10 marks)

(b) Q) Leading Office imply by custom of insurance business worldwide, the insurer
with the highest percentage/proportion is regarded as the leading office while all others must
follow. (2 marks)

(i) The roles of leading office are:

. issue proposal form/obtain broking slips;

. handle all correspondence on the policy issuance and endorsements;
. handle surveys;

. handle rating;

. dispatch policy specification to co-insurers;

. obtain returned signed slips/policy schedule from co-insurers.

(2 marks for each correct and completely stated role. Maximum of 4 to be graded. Sub-Total: 8 marks)
(Grand Sub-Total: 10 marks)

(© Co-insurance Sum Insured:  N50,000,000.00
Apportionment of Sum Insured

Q) Company A - 50%: N250, 000,000.00 (1 mark)
Company B - 30%: &150, 000,000.00 (1 mark)
Company C - 15%: N 75,000,000.00 (1 mark)
Company D - 5%: N 25,000,000.00 (1 mark)
Total - 100%: N 500,000,000.00

(i) Apportionment of Gross Premium: &10,000,000.00
Company A - 50%: N 5,000,000.00 (1 mark)
Company B - 30%: & 3,000,000.00 (1 mark)
Company C - 15%: N 7,500,000.00 (1 mark)
Company D - 5%: N 2,500,000.00 (1 mark)
Total - 100%: N10,000,000.00
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Gross Co-Insurers Premium: N10,000,000.00
Less Broker’s Commission: N 2,000,000.00
Share of Net Premium:
Less Lead Office

A 8, 000,000.00

(2 marks)

(retained by Company A) (2 marks)
(2 marks)

(1 mark)

(1 mark)

(1 mark)

(1 mark)

(1 mark)
(1 mark)
(1 mark)
(1 mark)

(2 marks)
(2 marks)
(2 marks)
(2 marks)

(Sub-Total: 30 marks)
(Grand Total: 50 marks)

Overriding Commission: N 200, 000.00
Net Premium Shareable: N 7, 800,000.00
Company A - 50%: & 3,900,000.00
Company B - 30%: N 2,340,000.00
Company C - 15%: & 1,170,000.00
Company D -5%: &N 390,000.00
Total - 100%: N 7,800,000.00
(ili)  Share of Loss Adjuster’s Fee: N1,500,000.00
Company A - 50%: & 750,000.00
Company B - 30%: & 450,000.00
Company C - 15%: N 225,000.00
Company D -5%: N 75,000.00
Total - 100%: N1,500,000.00
Claims Apportionment
Company A - 50%: N40,000,000.00
Company B - 30%: &24,000,000.00
Company C - 15%: N12,000,000.00
Company D - 5%: N 4,000,000.00
Total - 100%: N80,000,000.00
Part 111

Answer THREE of the following FIVE questions.
Each question carries 34 marks.
A client who insured machines under engineering material damages recently made claim
but it was discovered that some items were included which are not under cover in the
policy. Your Head of Technical Operations has directed you to write to the client
explaining the normal practice giving not less than six (6) examples of such cost/amount
that will be excluded from the amount indemnifiable under the policy.

10.

You are also to include in your letter appropriate references to four (4) principles which
when applied which usually can limit amount of indemnity for the class of insurance.
Solution
Candidates are required to respond in a letter form and include the following:

replacement of worn but undamaged bearings will be excluded,;

replacement of refractory brickwork in a boiler during replacement of damaged boiler

tubes;

replacement of worn tyres on a forklifts truck;
worn and burnt electrical contents;
chemical de-scaling (of boilers storage vessel e.t.c.) following repairs;
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o repainting of undamaged part of a machine e.g. the cab of a mobile crane where the
job has been completed,;
o complete overhaul of diesel engine during replacement of damaged cylinder linings

Any four (4) of the principles below limiting the amount of indemnity are required to be
mentioned and correctly linked/explained in the response:

o sum insured;

o policy excess/deductible;

o application of average/under value (insurance);

° betterment/depreciation;

o contribution by another policy inadequately;

o breach of warranty(ies) or policy terms and condition through imposition of

penalty(ies).
Candidates are required to respond in a letter format: (i) Putting in correct letter format — 4
marks (Adress & Addressee (I mark), Dear Sir (1 mark), Subject (1 mark), Date (1 mark) (ii)
three (3) marks for each correct and completely stated normal practice with correct example.
Maximum of 6 to be graded. (Sub-Total: 18 marks). (iii) three (3) marks for each correctly
referenced principle and correctly explained as it relates to limiting indemnity discount.
Maximum of 4 to be graded. (Sub-total: 12 marks)

(Grand Total: 34 marks)

11. Undergraduates in 300-level in a tertiary institution in your country paid a student
courtesy visit to your office, and your Managing Director has directed you through your
team lead to address the undergraduates on:

@ minimum of four (4) record to be set up per class of insurance business; (12 marks)

(b) minimum of six (6) record to set up to monitor performance of insurance
organisations; and (18 marks)

(©) Enumerate the differences between collective policy and co-insurance. (4 marks)

Solution

@ Record to be set up per class of insurance business are:

* premium received/receivable; * claims paid and reserved,
* commissions paid to intermediaries; * administration costs;
* profits or loss for the class of business.
(Candidates are required to explain 4 of the information. 2 marks for correctly stated information. 1 mark

for correct and complete explanation under each information. Sub-Total per information: 3 marks. Grand
Sub-Total: 12 marks)

(b) Record to set up to monitor performance of insurance organisations are:

* accounting systems; * statistical systems; *loadings;

* discounts per class; *rating levels per type of risks;

* ratio calculations analysis; * premium income analysis/platform;

* value at risk platform; * claims amounts;  * claims frequency.

(Candidates are required to explain 6 of the information. 2 marks for correctly stated information. 1 mark
for correct and complete explanation under each information. Sub-Total per information: 3 marks. Grand
Sub-Total: 18 marks)

(© Collective policy is the policy document jointly signed after it has been prepared by one
leading office, whereby all insurance companies that signed are bound by all the policy
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terms, conditions and warranties/endorsements (2 marks). WHILE co-insurance refers to
insurance companies coming together in agreement to grant cover on risk as per

proportions known to the insured. (2 marks) (Sub-Total: 4 marks)
(Grand Total: 34 marks)

12. (8) The advent of computers and online transactions have changed things. Explain six
(6) processes by which how underwriters use the computer to ease operations.
(19 marks)

(b) (1) In fixing or forecasting precisely what the indemnity period on a business
interruption policy should be, enumerate any three (3) factors which may prolong
the time taken to replace raw materials and also prolong the time needed to regain
market share after production has resumed. (9 marks)

(i) Explicitly explain any two (2) factors from those enumerated in (i) above.

(6 marks)
Solution
a. The processes by which how underwriters use the computer to ease operations are:

o premium quotation;

issuing of certificate and policy document online;

inviting renewals;

conduct real time online pre-acceptance risk inspection but not total substitute
for risk survey because moral hazard will not reflect online;
premium and sum insured analysis;

updating of risk index;

adjusting reinsurance need for medium and smaller risks;
recording premium debit/credit;

claims analysis;

. clients charts/updates.

(Candidates are required to explain 6 of the processes. 2 marks for correctly stated process. 1 mark for
correct and complete explanation under each process. Sub-Total per process: 3 marks. | mark for all

(b)

candidates who explained and not simply stated/listed. Grand Sub-Total: 19 marks)

Q) In fixing or forecasting precisely what the indemnity period on a business

interruption policy should be, the factors which may prolong the time taken to replace raw
materials and also prolong the time needed to regain market share after production has resumed

are:
.

if availability of raw materials is seasonal and the damage destroyed all of one year
harvest;

if raw materials are in short supply generally or it has to be processed before insured can
use it;

slack/slow market demand for insured’s products, in this situation, competitors will work
hard to fill the gap left by insured’s absence from the market;

price change imposed on insured if the new works cost more to run then the old prices
have to be increased.

(3 marks for each correct and completely stated factor. Maximum of 3 to be graded. Sub-Total: 9 marks)
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(i) Candidates are required to explain how any two of the factors correctly listed above affect the
fixing/forecasting. 3 marks for any correct and completely stated explanation under each factor. Sub-Total: 6
marks.

(Grand Total: 34 marks)

13. (a) Your friend that is new to fire insurance covers has requested for explanation
from you why standard exclusions are used. Explicitly explain any four (4)

standard exclusions to your friend. (24 marks)
(b) You should also explain, with five (5) distinct points, to your friend how the
standard exclusions affect a claim. (10 marks)
Solution
a) The standard exclusions are:
Q) War Risk
o whether war be declared or not;
. size of losses following war;
. law will be suspended,
o recovery will be difficult if not impossible;
. because of experience of the world war, government took same up
when insurer market made known their decision on this.
(i)  Riot
. some trade such as newspaper offices are prone to riot;
. loss can be very variable at different places and times;
. recovery from the authority can be made; for example from the police.

(i)  Radioactive Contamination

(iv)  Explosive Nuclear Assemblies
These are associated with toxic explosive and the potential losses beyond the
capacity of individual insurers insurance pools.

(V) Terrorism

Bomb incident in London 1992 devastating

. most composite insurers then were affected,;
. reinsurers were not willing to provide the cover;
. insurers informed government and stop the cover (terrorism).

(vi)  Civil Commotion
Insurer took opportunity and exclude the cause of loss where
o government is expected to be responsible;
o the burden of proving that such damage is covered is upon the insured
but it is excluded.
(vii)  Pollution-
The policy will respond to the fire damage but not to any other damage caused by the

original pollution
(2 marks for each correctly stated exclusion. 2 marks for any correct and completely stated explanation. Sub-
Total per exclusion: 4 marks. Maximum of 6 to be graded. Sub-Total: 24 marks)

(b)  The standard exclusions affect a claim in the following ways:
e in the event of war damage the claim is made to the government;
e in the event of riot damage, no cover unless bought as a special peril;
e insured must make the claims within seven days in case of occurrence;
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insurer can pursue the insured’s right of recourse to the police authority;

for radioactive contamination or explosion of nuclear assembly here is no cover;
cover can be arranged separately special cover will be required;

for civil commotion or malicious damage, insurer will regard that as terrorist and
will not pay;

(2 marks for each correct and complete explanation. Maximum of 5 to be graded. Sub-Total: 10 marks)

(Grand Total: 34 marks)

14. a) Fully describe a package policy. (8 marks)
(b) List five (5) nature of risks that can be incorporated into a package policy. (10 marks)
(© Enumerate four (4) actions that can be considered dishonest but seems accepted as
the ‘norm’ common in public places/society when considering fidelity of a
country’s citizen. (16 marks)
Solution
@ A package policy is one policy:
e having predetermined combinations of sections;
e with each set out description of what is insured against and what the insured event is;
o flexibility in name, address, risk address, business of the insured;
e amount to be insured in property, business interruption sections;
e “unit” of benefit;
(2 marks for each correct description. Maximum of 4 to be graded. Sub-Total: 8 marks)
(b).  The risks that can be incorporated into a package policy are:
* fire; * material damage;  * consequential loss; * theft;
* money; * glass * goods-in-transit;
* employers’ liability; * fidelity insurance (occasionally).
(2 marks for each correctly stated risk. Maximum of 5 to be graded. Sub-Total: 10 marks)
(© The actions that can be considered dishonest but seems accepted as the “norm" common

in public places/society when considering fidelity of a country’s citizen are:

removing ashtrays from public houses;

removing tissue papers from public toilet;

removing hands rail on bridges and other public places for making spoon, electric lamp
stands for sales back to the public;

inflating personal expenses claims;

using an office photocopier for personal use study books;

pilfering items from a place of employment, offices, stationary, provision and food items.

(4 marks for each correct and completely stated action. Maximum of 4 to be graded. Sub-Total: 16 marks)

(Grand Total: 34 marks)
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ASSOCIATESHIP
OCTOBER 2023 DIET EXAMINATION PAPER

SUBJECT AO05
LIFE ASSURANCE

All answers are to be written on the answer booklet(s) supplied in accordance
with the following instructions:

Three hours are allowed for this paper.
Fill in the information requested on the answer booklet and on form B.

Handle the answer booklet with care.

Do not write on the question paper.

The answer booklet should be handed over personally by you to the
invigilator before you leave the Examination Hall.

Insert your candidate’s number as given on your admission permit and any
other particulars required on the cover and flap of the answer booklet.

Ensure that you write the full and correct candidate’s number.

No name should be written on any leaf of the book, or on any
supplementary leaves that may be issued to the candidates.

The answer to each question must be commenced on a separate page.
Where however, a question consists of two of more parts, this instruction do
not apply to the separate parts.

Write in the ruled margin the number and question attempted.
Leave no blank pages among your answers.

Where supplementary leaves are used, the candidate’s number should be
written in the space provided on them and fastened at the end of the book
inside the cover.

FAILURE TO ADHERE TO INSTRUCTIONS (WRITTEN AND VERBAL)
WILL ATTRACT STATED SANCTIONS AS STATED IN THE OCTOBER

2023 DIET CANDIDATES’ INSTRUCTIONS.
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CHARTERED INSURANCE INSTITUTE OF NIGERIA
A05 - LIFE ASSURANCE
INSTRUCTIONS TO CANDIDATES
Three hours are allowed for this paper.

You should answer all questions in Part I, the compulsory question in Part Il and
three out of the five questions in Part III.

The paper carries a total of 200 marks distributed as follows:

Part 1 8 Compulsory Questions 48 marks
Part II 1 Compulsory Question 50 marks
Part IIT 3 Optional Questions 102 marks.

You are advised to spend not more than 45 minutes on Part I and strongly advised
to attempt ALL the required questions to score maximum possible marks.

Where a question is split into parts (a), (b), etc, marks for each part are only shown
if they are split unevenly between the parts and you should spend your time in
accordance with the allocation.

In attempting the questions, you may find it helpful in some places to make rough
notes in the answer booklet. If you do this, you must cross through these notes
before you hand in the booklet.

A formula sheet will be issued for use with this paper.

It is important to show each step in any calculation, even if you have used a
calculator.

Answer each question on a new page. If a question has more than one part leave
several lines blank after each part.
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Chief Examiner’s Comments

Question 1

The question tested candidates’ knowledge on the concept of automatic reinsurance of a block of
life assurance business and cause of new business strain. Pass rate was 75%.

Question 2
The question tested candidates’ knowledge on mortality tables symbols. The pass rate was 65%.
Those students that attempted it, interpreted the symbols convincingly.

Question 3
The question tested candidates’ knowledge on temporary annuity and annuity certain. Both
concepts were satisfactorily explained. Pass rate was 65%.

Question 4
The question tested candidates’ knowledge on clauses of Life Assurance Act 1774. Performance
was average as many students were able to interpret the questions well. Pass rate was 53%.

Question 5

The question tested candidates’ knowledge on pure endowment contract and universal life policies.
Not well attended to by candidates. They could not distinguish well between endowment types.
Pass rate was 48%.

Question 6.
The question tested candidates’ knowledge on a minor and the issue of disclosure. Candidates
scored very well because they were able to give the necessary information. Pass rate was 80%.

Questions 7

The examiner tested candidates of life assurance policy administration, endowment and policy
under trust. It was attempted by almost all the candidates, and pass rate was 83%. It showed
candidates’ understanding of documentation of life assurance.

Question 8
The question tested candidates’ knowledge on unethical practices that occur in insurance business.
Candidates’ responses were disappointing, pass rate was 35%

Question 9

This is a compulsory question attempted by 98% of the candidates. Pass rate was 67.5% and this
showed candidates had good knowledge of types of life insurance that suit the particular case
study.

Question 10

The examiner tested candidates’ knowledge of obtaining life assurance licence in different African
countries as the various types of life policies. Candidates lacked knowledge of current capital
requirements in those African countries. Overall pass rate was 25%.
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Question 11
The question tested candidates’” knowledge of trust and how trustees are replaced. Most candidates
performed well, pass rate was 60%.

Question 12
The question tested candidates’ knowledge on mortality table and its uses. Many candidates have
a good overview of mortality table but did not mention the constituents. Pass rate was 27.78%.

Question 13

The question tested candidates’ knowledge on annuity case study. Well attempted by candidates
and many were able to distinguish between the different types. It was well attempted and pass rate
was 68%.

Question 14
This is not a popular question; majority of the candidates did not attempt the question. Pass rate
was 60%.

Comments on Overall Performance
Overall pass rate was 52.50%. There was improvement from last diet as some candidates showed
sign of sound understanding of the course.

Suggestions on Improvements (if any)
Candidates are encouraged to study the course books and prepare well for the examination.
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A05
Part I
Answer ALL questions in Part I.
Each question carries six (6) marks.

1. @) What is the name given to the automatic reassurance of a block of life assurance
business?
(b) What can cause new business strain?
Solution
@) The name given to the automatic reassurance of a block of life assurance business is
treaty reassurance. (3 marks)
(b) An unexpected number of large early claims before a new life fund has the chance to build up
large reserves can cause new business strain. (3 marks)
(Total: 6 marks)
2. In the context of the mortality table, write out what each of the following symbols
represent: (@) px (b) gx () I
Solution
@ px represents the probability that a person now aged X will survive to the next age (x + 1)
according to a particular mortality table. (2 marks)
(b) gx represents the probability that a person now aged X will not survive to the next age X
+ 1 according to a particular mortality table. (2 marks)
OR the probability that a person now